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BT EIEIRESWHIRTA?

What is the most effective mechanism for migrating data in an automated way?

A) SIEBRVINEIRELIRIR A EE

Create smaller datasets to keep migrations manageable
B) HIEEBRMETHIEIRIER

Develop a rollback procedure for when the migration fails
C) MRTEITRBEIERIRIMIAS s

Ensure proper testing of scripts before migrating the data

D) R EHUEEENRAZHIF RO A=

Set up database versioning and keep strict version control
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RENCESCM T FEEERE, —IIEBERAEHIT. BBVANXRREA ISR ERTH TERAY
WEZEE,

B2, BGRSBEAHAEWIE ZHHIm B REBERAES .
BIARSE AT A AR?

A team has implemented continuous deployment and everything is version controlled. The
team feels this is necessary to find errors quickly or roll back whenever necessary.

However, the team lead argues that it is not recommended to keep binary output in version
control as well.

Why does the team lead say this?

A) ENEFRFLIRZ(FAIE SRR EIEA T
Because a recompilation must be always be done as a regular part of the normal build process
B) FEATHBIMHE MY, BREHEEEE, TUNRRIEEREE
Because binary output are large files that change every build and can be recreated from
source code
C) EAZEBAKRLE b SR AN Bl E
Because multiple team members work on the binary output which makes version control
difficult
D) FEN—#HHamtHEmERaImAN, FEEERRFERS =S H
Because the binary output is the input for compilers and cannot be kept in version control
properly
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REN—BEECIEERE K. (RIS ERIISEIN T ERIBRER, FHRE—LERR B EE
HEME, ERTUARKEIBABRATIT. BRIlAmRREERA—X.

IR IS BUHERE MK LR T —2P 1516,

- AkiZRTR: "HINGZSTH— P IRERMABRER, HIBRIAYERR AT LT HE R R,
- EmEFR: "M ERONR B, —BSmRAIRWesEil 7 Banit, AT LAFF

mEMAHT. "
- Kenzr: "BBIVKEGEARNMERN—BD. B, EHITEMSIRT, FHiINizseiRE7ES
m (WIP) . ”

- Martsirs: "BUERRINF, FIEXLLI T 8HR. IEIRRREYTITE, FRLAFINIZE
FRAM. "

EXMERT, VRN ERYF?

A team has been working on creating a deployment pipeline. They have achieved single-
piece flow of their process successfully and have some basic automated build and
deployment processes, but the unit and acceptance tests are still manual. They currently
release every month.

The team discusses what to do next to improve their deployment pipeline.

- Aki states: " We should increase the frequency of the releases further first. The other
missing elements will follow from the problems that we will run into by doing that."

- Em states: "We should automated the rest of the tests. Once we have automated unit
tests and acceptance tests, we can start automating releases."

- Ken states: "The deployment pipeline is part of the value chain of the organization.
Therefore, we should first limit the work-in-progress (WiP) before we do anything else."

- Mart states: "It is going well right now and we have achieved single-piece flow. There is
no reason to take any action right now, so we should wait for the organization to mature."

Whose suggestion is best in this scenario?

(BEXRZ, ®T—R)
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A) Aki
Aki
B) Em
Em
C) Ken
Ken
D) Mart
Mart
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BANEEA— T mI RSB K. BBATICERZE KRR ER. I EESS DSLIFEse
B

—(IEBARLRFRD: "FeRHIEN (DoD) MAZ{ERZMEBREHZAIEN. WMRABERZHNAHTE
DoD, T{EmixiE. "

XA R R IE?

For a new product, a team needs to develop a deployment pipeline. The team discusses the
commit stage of the deployment pipeline. They are working towards continuous
integration.

One team member says: "The definition of done (DoD) should be defined during or before
the commit stage. When code does not adhere to the DoD when it is committed, the work
should be stopped.”

Is this true?

A) B, EABBALRRIIIEARS, ©ZBIFLA)IRE.
Yes, because the team member is not doing their work correctly and must be reprimanded
immediately.

B) 2, EATEARFSDoDUTTEBINGME, A FLIER,
Yes, because work that does not adhere to the DoD does not add value and should not be
committed.

C) &2, E/DoDREEFRWHEIEN, HRAZMERAIEARME.
No, because the DoD is defined during customer meetings and is not ready before the
commit stage.

D) 72, AFHMBRKEHNITIELMARIEE, TIEKNEARRAHIL,
No, because work in the deployment pipeline must always flow and work may never be
stopped suddenly.
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HEPAERREN AR, BRI TIFSNBMEGEEE, IXBRSEMNERRE, FiEkE
FTRIKAYE, XEHPESE 7 XENRETRERER, SEREEKREAERLEERE S iEEh§hHY
XU,

BIRAEAEIT IS AR RIX N EIRE.
EilNAEA = 10 N

A team experiences many application and hardware failures after deploying application
software upgrades. When they were trying to recover a known good state, this took a long
time. The failures resulted in extended downtime for critical applications. Management has
asked the team to reduce the risk of disruption for the next deployments.

The team discusses how to solve this problem.
What should this team do first?

A) BRREUKLSEE, SREARMmIETEEm

Automate all tests and the build, deploy, and release processes fully
B) HAR—IIEBEIRA ST, LASEIREIRE

Ensure that everything is in version control to enable quick recoveries
C) LA REINSIZ4EFPARTIEE

Get the Development team to communicate with the Operations team
D) MFAREIBAHITEILA T iREREIIFE

Train the Development team to understand the deployment process

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH)
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BRI RISCHERF SRS, BRRIFFABINERIXFMHFRITIESIN, FAEEE T ManSf TR
HHEmHEIA.

EB RGBSR A ARISTRZ 2

An organization is planning to implement continuous integration. The organization’s
development team agrees with this new way of working and has already selected
automation tools, which will build software from the command line.

Which other activity is a prerequisite for continuous integration?

A) NIZEMEIREE, RANXRSE=TTEEMRAILESRM.
Absolute paths should be eliminated, because this is necessary for integration with third-party
libraries.

B) RrZi=HERIZREIEN, BT LR ILEEEX,
Infrastructure access should be controlled, because this ensures no one can make unapproved
changes.

C) NiZicERiMER, E/aXEETFRAGEESHAYSHE.
Value streams should be documented, because this helps identify areas that are in need of
improvement.

D) MAZEESZhRANES, EJ9XEA]LABRMERRYRIERTE. BEATHRIERR.
Version control should be established, because this makes it clear what was done when, by
whom, and why.

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 11
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RERAEE IR AAEot. Bal, AT EFE2E T AERE., BSOSk,
EEERAMMNESEERFNLE. BE, SERERMATEFPHIXEGERRAIRRTE.

HFBAGHES e, ARESKITERFRKHBEMCAIEEN. B, XESEE—LEF SN
X, —(UBARRET, RENFERAEMHETNAENNERR T FralRICli.

EXFER T, FARENIZSAFEECIRBEML?

A team is discussing their user acceptance tests. Currently they are spending a large
amount of time, effort, and money on manual acceptance testing. Management has asked
them if there is a better alternative. As a rule, management will favor the solution with the
lowest risk to production disruptions.

The team concludes that they have the ability in-house to automate all user acceptance
tests. However, this would take some time and increase the costs. One team member
remarks that a competitor has replaced all acceptance testing with automated unit and
component tests.

Should the team automate the user acceptance tests in this scenario?

A) B, EANKIZEKE, BapBIRASHETATUR, FEHBMCBEEREFRHIXG.
Yes, because automation will be cheaper than manual testing in the long run and this keeps
the risk of production disruptions low.

B) B BENXALSATERKNRAREIFEGE—R, MMEHEEFFRIXEL,
Yes, because this reduces the number of manual acceptance tests to once a month to keep
the risk of production disruptions low.

O) A2, EAATRKKAT LSRR RIARINFTEERRE, MR hiTiIXEE.
No, because manual acceptance tests ensure that all defects are found before releasing to
keep the risk of production disruptions low.

D) &2, FEABETNAMHNHEN TIRKNE, FHEXITHIEE 7 XA AL RAIXEE,
No, because unit and component tests replace acceptance tests and the competitor proves
that this keeps the risk of production disruptions low.

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 12
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RN B AN EATTR T —SANBEEF. BIZNAEER, SFREBEERE—AEIRE. 28E
WRES—AEFEK, FELTEBRELRE.

Bal, FREBARSRNISRER AT, ZIBRNE, ATURERIFREL.
FEREBAE FRMAZ M A?

A start-up company created an app for pet owners. The app lets customers find a pet sitter
for a day. The company owner is talking to a large customer and expects that the company
will grow fast.

Currently, the Development team has a manual process in place for testing. So far, this has
worked very well.

What should the Development team do next?

A) FEHFRCIEFTRIMGELASS IR B e RS

Create new tests for the Operations team to automate deployment
B) (RIFATIN, ©ERNEIMFTRIATILR

Keep the manual tests and add new manual tests if necessary
C) FFEIRENEAFNEFANENE

Wait until they know how to create value for the new customers
D) SizHHIAEIFRE BaMLlid

Work together with the Operations team to write automated tests

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH)
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HDevOpsHAMERAF &AM ER B ER BB EEETIIEUE.

ZEARKEERREA?
A DevOps team uses the data in their databases during software development testing.

What is the largest potential problem for this team?

A) WA SRR NI R 2R

The access to data from locations outside of the testing database
B) EZRDABSEFEUERIRT IR

The accessibility of production data when working from home
C) RATEIMRAIRRENEERAT Bl

The availability of representative test data for automated testing
D) MEZReEFIERENNEE LT

The security of the available security controls on the test data

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH)
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Kamala2—&ER%eoHN, AESE—FARNEMATNIRREFATRE. tHEEBR
Z—RIESREMBRIEEZERIR.

KamalaZWEANIZEEERE LT AR, BIBERREEMTNRIBEIEHERIEE MRt
anfEHA.

HbAYEIERODAEEIX—IRIN, MENISIEER, A M EEIEIBERR SRR~ RP.
IWIFRIREIARZEER, NxEETHA.

HEEXIAY?

Kamala is an information security analyst responsible for improving the current software
development process of an open finance company. One of her main goals is to increase
awareness of information security during coding phases.

Kamala has advised that teams should 'shift left' on information security, which means that
it should be integrated into the entire software delivery lifecycle from code to operations.

Her manager Rob disagrees with this proposal and suggests hiring specialists to build
information security into the products once they are ready for deployment. He argues that
the developers are no security experts and should be able to focus on developing.

Who is correct?

A) Kamala, RANRBERATHRRETEREEEN, NRKIZKE, TLHEEERZSTARIA.
Kamala, because an earlier integration ensures compliance with relevant laws and regulations
and will make building secure software cheaper in the long run.

B) Kamala, EAEARRATUBTEIIECSHAREER, AHALUDEREERNIRNA.
Kamala, because the team members can get trained to become security experts themselves
and this will save the salary costs of a security expert.

C) Rob, RARIFHIGZRETEELERELHHE—ERI, HIRIBEHRE T mP SR,
Rob, because it works best to create a set of policies based on information security best
practices and hire an expert to implement them in the products.

D) Rob, FENFATEMHLNIZE TTHRRMEX—ZMES, MARRATEER.

Rob, because Developers should indeed be able to focus on their core task of developing
software and not be burdened with becoming security experts.

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 15
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FEARHHIRKIFL A2

What is the largest benefit of continuous delivery?

A) LUEBBRYS USSR AR BY— B4 RIRKEE.

It enables conformance and performance of software development in a transparent manner.
B) HRIEMHAATEINPLEA B AERAZ.

It ensures that corporate governance processes are enacted in software delivery teams.
C) XEEREN LR aFIERA 45,

It focuses on the time to market of deployment and enhanced business performance.

D) SINBZMCLRHEXSSASAFRRAITER,

It introduces automation to reduce the need for compliance and assurance of software.
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HEPAEAEFA—ANARER, FREEFARBRHEE. ERESIHSN E, FBASNIZR
FRVIBFRSE R R SEIFERRAT

EBARLZ S A ?

A team is working on an application and wants to start working with continuous delivery.
During a process improvement session, the team discusses what practice they should use to
achieve continuous delivery.

What should the team do?

A) EBARIZFFRfEAScrumFAEIESLE,, FESZREAMITY, LIRS,
The team should start using Scrum as its management practice along with quarterly release
planning to increase agility.

B) HBARLZFHAEUIF RS o S AURHEEE S BN FRRI B s,
The team should start working on improving continuous integration of branches and
automated testing of their application.

C) BIRROZF s BB AR RIS TR,
The team should work on cultural change using Agile change management practices and
feedback loops for reporting.

D) HRARGZIEFRNEERAEN]R (Kanban) , ERIEIE—MABEZRA,
The team should work on Kanban implementation on the team level while creating a loosely
coupled architecture.

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 17
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HATXF RS IR 7 H#IRRE, BRI 7 DevOps., BINEELERE R MAvEMREIE, B
XSS T —LiaE,

BIAES DA A L T LA [E)RE:

- BTSN AEBERREBS X ITIE, FrABERIBORT RS Z—RRIE.
- —BERIBIAMIERIEEES, PSR AELR.

- BIRNE—MRAEHIRSE, (BF AR RERREESsdEn (KPI) .

- BEEAfREUEIN, AT HkESHERRIR (BIERF) .

BUEE S TRERRATE, WR—IIRIEBARIRE BN ?

A company has radically changed the development process from waterfall to DevOps. The
team wants to reduce the time between releases, but is experiencing some problems doing
that.

The team has found the following problems during their process analysis:

- A fifth of the sprint time is spent on porting code, because everyone works on separate
code branches.

- Whenever issues are found that break the build, the production environment must be
rolled back.

- The team has a version control system in place, but does not monitor key performance
indicators (KPlIs).

- With the increased number of releases more customer feedback, including complaints,
comes in.

What will help this team most to reduce the time between releases?

A) XEBEETETIFAR, THEBERD

Adopt trunk-based development to make porting code unnecessary
B) EIUMAALM, LABEIREFIKE

Reproduce test failures to prevent rolling back the live environment
C) ARELERMERHOEFIRFE

Use canary releases to reduce the number of customer complaints

D) MAENHAFA, MR SMHMERXREIUSR

Use more telemetry to monitor KPIs that show the business value

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 18




=%IN

14/ 40
BE—IAARRNBEIMIAIR?

What is not a benefit of a loosely coupled architecture?

A) FRIEMLIRZH# TR

Developers can work independently on software changes.
B) R&AuILAE7ZEINILE,

Systems can be changed and validated independently.

O) EXRERVIEEERRE,
There is a minimum of project management oversight.
D) SrTAISERKBENL.

Unit and integration tests are run automatically.

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH)
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TinafAZR AU mAYSREFNN G, AR ARFIE XSS, ESRILATILR:

- REFNERNZNIRSHIEE, M LREIETHE.

- N FFERF AT USSR SZ AR TRRE.

- REFMBEBARE T LIEEN AR, BRE— MR IREINEIRIITIHRE.
- BIAR Rz T ERA 7 s8N e - FTKEAIIBILARSS .

Tinad[fal 4 BEERUFIEHS B IR/ B RV ERHERIGIALR ?

Tina is responsible for improving a products’ architecture and application environments.
During her first assessment of the applications, she notices the following:

- Deploys could be run at any time by the team as long they notify the service owners of
affected services.

- The applications could be deployed using independent components.

- Even though all team members could deploy the applications, only one developer has the
access and permission to do it.

- The team needs to run a handful of scripts to connect with the adjacent services that the
applications depend on.

How can Tina best help her team to prepare a better infrastructure environment?

A) FENFIRACIEMFESIR, XA JERE DR N AR R o] LIRSS N AR R T AU EL (D
ARSSE,
Help the team to create a loosely coupled architecture so they deploy code or release the
application independently of other services it depends on.

B) BRFERAREANSEFARTRENSINEEDAN, HITEARGH, FLUFNEBSIRIELHRT
AUEAHZRMA,
Organize a hackathon with all tech leaders and senior developers to innovate and replace the
current infrastructure with a new tightly coupled architecture.

C) EFEIEMPENAEFLUERKIRR, XEFAAAT LB THA, FIR THEMNBEFH TN
FRfEFERE.
Recreate the adjacent applications to remove dependencies so the team can run scripts faster
and deploy their applications independently of other applications.

D) XMEBARRFI TN AREFREEREAHIII, FFEMAIR, BIMATEETEZRS (CAB) .
Train the team members on deploying the applications safely, give them the appropriate
privileges, and make them a part of the change advisory board (CAB).

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 20
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KB B RSN RIRIAER.

RIRIIEEB L RZTA?
A deployment pipeline typically consists of multiple feedback loops.
What is the main benefit of using feedback loops?

A) MEFREBASEHEERNERTE,

Communication between the Development and Operations teams is improved.
B) BIZ. EoRMmAFRXIERRENRG,

High-quality software gets delivered to users more frequently and more reliably.
) EF&EEIFRIEPHNS T,

The customers are involved at multiple steps during the development process.
D) EHFHVTRFIGKOULE, (UAT) , WEERIZHEXAEEN.

User acceptance testing (UAT) is performed regularly to gather stakeholder opinions.

17 / 40
TR BAREEE T AMFE =P EIRAIThBEMERZ AT,

B—IE XA E X SRR TS R?

A software development team has been criticized for deploying features which do not meet
customer expectations.

What is the best way for this team to improve this situation?

A) EERERICIEIRZAIRFIRECTIIHAEER

Creating a standalone user acceptance testing cycle prior to deployment
B) PHEEMFEEXEFT KIS REGETEBE

Lowering the priority of other stakeholder requirements or fully removing them
O EBNFTRMBEFHRRSEREFSHEEEN

Making requirements static or fixed at the start of each development project

D) HEENMFREHEHRFRIRSRKAEERENLE

Seeking stakeholder insights actively throughout the development lifecycle

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 21
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DevOps, ##E. Scrum. #BmmFIENR (Kanban) EBEELIRBERATNAELEINNE.

DevOpsgeta BT R 24N E?

DevOps, Agile, Scrum, Lean and Kanban can all add value to an organization in their own
way.

What unique value does DevOps bring to an organization?

A) DevOpsBIdIREFENARTSE, TIEFIERRIRIA
DevOps allows regular feedback loops from customers by setting a sustainable development
cadence.

B) DevOpsta{RIFAFIBAZ4ERIPA LR REAVESRFEIDEESS.
DevOps ensures the Development and Operations teams use the same task board to
coordinate tasks.

C) DevOpsEiETFHLAM, LISMIURERERZEFZINME,
DevOps focuses on releasing continuously to deliver value to the customer quickly in an
efficient process.

D) DevOpsKAEJRMLHTIRSS, ERNBILEMRIRE TIELAZETIEE,
DevOps provides the new services just-in-time while focusing on efficiency by eliminating
wasteful work.

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 22
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DevOpsHIBE BT & T THEIMNMERRET ZFHEENZ L.

HEIXRNEERZRMAA?

DevOps aims at increasing customer satisfaction and the customer experience by focusing
on adding value.

How is this primarily done?

A) SEIHFNERE BRI

By automating testing and deployment
B) EIREMA T

By delivering products more frequently
C) FFRINREMERY = m

By developing well-functioning products
D) RAERARGRIF R TIE)D

By using highly skilled developers

20/ 40
£ DevOpsEIRAKARIIME (FlIN-RA1E) SISFFARTRE. RHENETEARIAT LS.

AT Al DevOpssLiL?

Many DevOps teams use visualization, such as card walls, to steer their development
process. Card walls increase the team’s visual control.

How does visualization facilitate DevOps practices?

A) D RIBNTIRTTAEF R T taRk

By brightening up the office environment to stimulate productivity and employee happiness
B) FIRHASEARM—FLFANEIESITENSRENH T TRISR

By giving leaders a way to hold the team accountable for their activities and divide work
C) HEEERIRIGI IR T ERH

By helping management to gain control over the team and the work that must be done

D) MR TIFHARRIEMIE, XIEIBAS RSN

By positively impacting team culture and performance by making work progress clearer

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 23
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FRBIRNAT LATEERAVBS B AT FTRITHEE, (B@EAREZEIR,T, —TEESR 7 LATER:

- BlRERARTES .
- RERFETHBESER, BINFEEFRIFEFMNEPFEER.
- —BFRITHRERRHI, FFREAMREIERAK.

R Z BRI RIS TTRL,
EIBARZ QAT AR RIX N RIREE ?

The Development team can build new features within the requested time, but they are not
often delivered on time. An investigation shows the following problems:

- Regression bugs keep recurring.

- Although time is spent on fixing bugs, customers keep complaining about bugs in the live
environment.

- The Development team gets really stressed if a new feature is requested.

The underlying problem is that the team'’s testing strategy is not effective.
What should the team do to solve this?

A) FBARCGATEURKLARIRRRMNERBanit, FHlidiE) RS EBAR RIS FRATIAIR,
The team should automate all tests and the commit stage, and increase the team members’
understanding of the continuous integration process through training.

B) HBARCSFRESRITUI. EMFNEMERRBENE, FIBEURARTIFAEAZEIME.
The team should automate all unit tests, component tests, and integration tests, and increase
collaboration between testers and the Development team.

C) EBAREMHFIEREEERM, FELENARBEGSERRFNEEEE.
The team should automate testing and the deployment process, and if necessary upgrade
hardware or update the system's configuration management.

D) HR\NIET BN AECRUNRFIREIMURAR, TR A4 A Z BIRIME,
The team should increase the collaboration between the Development and Operations teams,
by increasing monitoring and logging, and by using virtualization.

E) HBANMEHRITAEIN THRBITRE, FILRSTEHEZIRRINME.
The team should make sure the Development team understands the deployment process, and
increase the collaboration with the Operations team.

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 24
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DevOpsHI—7HRMRIBX(E S SEENM R G A TIEM.

BF—TRRN A A TiE M Ra A ERE?
Part of DevOps is making sure relevant information is visually displayed for the Developers.
What is the main type of data that should be displayed for the Developers?

A) ZXRNEFRR (BEOFITIRERXK) |, LUBHFA TRRIPREEM
Customer feedback of the day, including complaints and feature requests, to allow developers
to fail fast

B) MAFAIREIMAIEFE (BRFEIIMENTE) | LMEEFR TR @RS
Individual developer productivity, including number of hours worked, to allow developers to
compete

C) MERERHE (BREMERER) , MMEHFFATEIMHTHRERNRER
Overall project progress, including budget information, to allow developers to make strategic
decisions

D) MRRELE (BEHFERMRER) |, LUBHETATEIMH TIERR
Product quality data, including failures and defect rates, to allow developers to make informed
decisions

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 25
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RATBLEERMADevOps TIEA. MMNEAESH—MSZERERTEREEREIETE.

B—INEEEDevOpsIM B BEIRVRAESA?

A company has agreed to work in a DevOps way. They are searching for a way to manage
the entire scope of their projects that fits with that way of working.

What is the best way to manage the scope of a DevOps project?

A) FERGERITTR], FEERERTHRRI RIS TIFBUAR—E

Complete an iteration planning to agree on the items to work at every iteration’s start
B) FYITNREEIR RN AMITY, BEFMERRMIIAS

Create a full release plan for features, forecasting to customers what will be released
C) EXHE/NTAEFEE (MVP) , HiRESEEEREIR

Define what the minimum viable product (MVP) is and review as often as necessary
D) FEERERZENRETIFUER, HBEIEIRARREET(F

Set the work priorities before each iteration to help the team members pick work

24 /40
REFFRTRNBMREERET R I8, R TIFEE

S4BT DevOpsEE?

Single-piece flow in software development means that the focus is on a single feature that
is continuously worked on until it is done.

Why is single-piece flow important for DevOps?

A) SRR TAE AL, aIFull, FHRFHEERIESR,

It allows the team to work at a sustainable and predictable pace with a constant velocity.
B) BIIRIERRISNEHRIIEE, HEIFREIINE.

It helps the team to add value by delivering high-priority features when they are relevant.
C) &N FTEREBARLRABIESAIHERSRE.

It increases the shared responsibility of picking up tasks among all team members.
D) BIIIRESREANTIRERIBIALREE, A/ DRI,

It reduces bottlenecks by limiting the number of team members that work on a feature.
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TOOIABEICT A — MR, XN HEBETEXRIIE. EREEMNUEAHE, RFML
RIAZITRHEARER.

AWSESMAIEREZEAT, SETELSNRASIENXEE, MmITNRSEREENIANERRIEZHMER
E—iRR, ITRIBEEEHIESDevOpstBES: MERHHHEKRRIEEN.

Tool N EIIEIE ¥ — B E) LAFR R IS SIERBRYEE.
PRRINAZES AR ?

The Tool Company is busy developing an e-commerce site, and this project is a high-stakes
project. Customers are dissatisfied and complain about the e-commerce site not working as
expected.

Senior managers on the business side argue that working in an Agile way will only increase
the risk, while the IT senior managers argue that it is the only way to deliver value fast. The
IT managers want to combine Agile with DevOps: releasing often and asking for input.

The Tool Company hires a consultant to make sure they do the right thing.
What advice should the consultant give?

A) TRABSETIEAR, BAETHDevOpsTIEAR, EARFEEERIFEEMILRESAZIFHIRY
xR
Do not work in an Agile way or change to a DevOps way of working because customers are
already complaining about the e-commerce site not working as expected.

B) RENBHET(EAIN, 1EMNDevOpsLE;, 1LEF R TRRIMAILITEREINEBERIIER FTRIRFTKERE, FF
THTEE PRI,
Work in an Agile way, add DevOps practices, give developers the freedom to deploy without
external approval and as soon as they can, and gather constant customer feedback.

C) RENEUEMDevOps TES T CIEEB ML, (BfERMAIEEINA LR EKIIHAZEERR S

(CAB) iz,

Use Agile and DevOps ways of working to create the e-commerce site but add manual user
acceptance testing and a change approval board (CAB) process before releasing.

D) HHFAREEIEMDevOps TIEA, BRAZEFAMMAM, LABLEEFRIFAARRH,
Use Agile and DevOps ways of working within software development but only release finished
products to customers to prevent complaints and dissatisfaction from the customers.
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HEA—ENREEERNE, BNEEFREF. BGEEINLEFF5|A\DevOps,

EEERE AR TR ANETIEA, EFRENKRALUZR. AR5 RRATREREX
B, EIRAITE T XAMARE,

- Hichem¥&7R, BIAIAEARHTLINEHNE TSI, RAXAIREENESEFRAH. Bk,
BIRARLZEE ST — NP R IR,

- Kirat7Rx, BEESABRAAMRBERETSE, JURERDEITIEPRIFEFIETL. JIARR
RERARNOZBE SR BT R E.

- Nazim¥R, HREERN. BOEFPRIFZEI, 7% IDevOps TIEG . EIMA TN
BEBBR BRI,

- RoseZR, RENTIERAIEEEIZFER, ERDevOps TIEARHH TS RERATEREHEMEENX,
S, WIREARLIIZERGEANR A= Bait, XBR&ESE.

EizpRT, HERENEERT

A team has been working well together, but customers are still complaining. The team
would like to experiment more and introduce DevOps.

Management will allow the team to experiment and change their way of working, but only
if the risks are acceptable. The company policy is to minimize risks as much as possible. The
team discusses this problem.

- Hichem states that the team should not experiment or change its way of working right
now, because this may lead to more dissatisfaction with the customers. Instead, the team
should build a customer feedback form.

- Kira states that it is always good to bundle changes into large releases to minimize
disruptions and outages in the operations environment. Larger releases should keep the
quality of the live product higher.

- Nazim states that they cannot change to a DevOps way of working until they are
performing well and have reduced customer complaints. Additional manual tests should be
able to help reduce the complaints.

- Rose states that it may sound counterintuitive but working in a DevOps way and
experimenting will reduce the risks most. If the team has automated the tests and version
control well, this is the best way to go.

Whose suggestion would work best in this scenario?

(BEXRZ, ®T—R)
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B)

9]

D)

Hichem
Hichem
Kira
Kira
Nazim
Nazim
Rose
Rose
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HEREEEE70FFI80FARIRE. XEXMEEENRRY, NEEFHREFEGRESR
RRAEFHRRERATAN. AEEEY K.

— M EBASISINAH 5K, MIJRERBRIRIKENF R, XRMER—TEERIRE, WMRMERIR
BReEN IR IMEERIR LRR, BaR3IESERF.

EilINVRE o N
A web shop specializes in 70's and 80’s clothing. The web shop is doing well. Their current
customer base consists of people that seek period costumes, and clothing rental

companies. The company wants to expand.

A team discusses how to expand, and they decide to use hypothesis-driven development.
An example of a possible hypothesis for this web shop is that more customers will be
attracted to the web shop if its content is presented in a mobile app instead of just on the
website.

What should be done?

(EBR7, FTF—R)
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D)
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- BEREX—MRIR, BEBANREBRFRINAESEIGIE.

- Rfa, BMEZE— N OFHUERRIISRNTRFGE (MVP) |, FaleEFRIRAL

- ESEPHTEERIEE, SMVPHTIRT, WESFNMERAW.

- The customer defines a hypothesis, and the team determines what test or experiment should
be done.

- Then the team builds an MVP that supports the formulated hypothesis and tests the
customers’ response.

- The MVP is reworked after a short feedback round with the customers to ensure the most
customer value.

- EPRIEE IR REHRIR, BN SEFiaiEsgi.

- R, BERVERREFHITIE, BESRLNS/NTA~m (MVP) |

- BRESEFHARAMVP, FREFRERUARSRIZ.

- The customer develops a hypothesis based on their needs and the team talks to the
customers.

- Then the team builds and tests a prototype and determines the final minimal viable product
(MVP).

- The prototype is redeveloped as an MVP and the customer is presented with it to test the
hypothesis.

- BN EE RSB R E SR EIR.

- A, BIEIEE R B RIRAIEAFRSEIE s .

- BTSRRI O, RESMEFAHIEKESRIR.

- The team gathers information from customers and formulates a hypothesis based on that
information.

- Then the team determines which experiment or test can be done to prove or disprove the
hypothesis.

- The experiment is conducted and analyzed, and the customer is informed and asked for
more feedback.

- EIBAKEERIEHEREBERIER, FRIBEEKEIERIR,

- Rfa, BEBMEEMVPHEETIN, BRERNSERT.

- IREIG OIS S RN IR R R AR ERIR.

- The team gathers information from stakeholders and formulates alternative hypotheses from
this.

- Then the team builds and tests an MVP and presents it to the organization’s upper
management.

- The final hypothesis is formed based on the results from acceptance tests and the manager’s
reaction.
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B— IR RS B TSR AT A AR ?

What is not a likely effect of Lean management practices?

A)

B)

9]

D)

B AREREHAIL.

The organization gets a more generative culture.
RUZIEERS.

The software delivery performance is increased.
BARRAE 2 TIFER.

The team members are less likely to burn out.
BEEEREMXRIEFE.

The managers will pay more attention to profits.

=%IN

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH)

32



=%IN

29 /40

REABNEIRBIF AR RER AP ERE RN T RN EBR THk. X NEESE TS 4H0A
MRS, EREBEHEBRSERF, RSEUIITSAEEREHERN, XEMTHHRTRIEE
iR

BEARBRZRIRARE, REMNESLLH T TERARMENT. EABREERER, UF
B T iRl

NKIZRE, WERT =G RAM TR R E?

A team has challenges identifying issues and troubleshooting applications that are
deployed into their infrastructure. This is a problem because there are many incidents and
outages. Customers call the service desk often with complaints and the service desk must
reroute many questions to the team, which puts them under time pressure.

The team has no idea what the root cause of the issues is, even though they have mapped
their workflow and follow these processes. The team is working with a Kanban board and
seems to have achieved flow.

In the long term, which solution will help most to reduce the number of issues?

A) EIEPREREE TR, FERRIER DIREFRE
Hire a consultant to remap the workflow and set up new processes on the team'’s Kanban
board

B) ETRRSSEILGERERGERN, MMEHERAITIFRE
Free up valuable work time by instructing the service desk to stop rerouting questions to the
team

C) EEXSFNRRNEEEE, FRL—N=FHIASGH
Measure the team members’ individual numbers of issues and set up a competition to
improve

D) BIIFHELEE. CIBRGRIRFIREEA, iR
Set up a monitoring strategy by storing data, creating a dashboard, and setting up
notifications
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RHABNEESS DIERI5er TR, {BIREEFNER ™ m.

REAEHGE (WIP) BREGIE#SEIERAE Y TIEmR?

A team is struggling to get work done on time. They struggle to get the products to the
customers on time.

How does imposing work-in-progress limits (WIP-limits) help this team to establish flow?

A) MZES5FRNATER@mEXETIEMRRAHEE

By changing the roles of all stakeholders and team members involved with the team
B) #ENRBIRIN, MBI RBASGHFNULTIE

By helping to identify bottlenecks that help the team to improve and optimize the work
C) BuANFARERIEETIERNEREIRER

By improving the lifecycle management of applications and communication tools

D) FRHIEBA TERTERI TEMN REFEE

By limiting the number of tools and applications that the team needs to use to work
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REERERZSNIE, EERENEREEEFHEENRR. XEBNGERTEN, SREBEL
EFrEmE, BEERELCRETERNHE,

FIARZE— T SR RENSERIRMHAERENRN. MIFEtlERNENLSNENR
KiE.

BIRANIZ EAT?
A team works on several projects and management puts the same priority on all their
projects. This leads to pressure on the team to do work on all projects daily and report

progress on each project weekly.

The team needs a way to ensure maximum team efficiency and high-quality deliverables.
They want to deliver the highest customer value and business value.

What should the team do?

A) EE—BEARIEABRBA, BHIEEBREERSER. RREFAMAERREERINEFRIR.

Appoint one team member as a liaison to stop managers from directly talking to the team.
The disadvantage is that the team no longer receives direct customer feedback.

B) RERIRALIBIALRE, MALERITEL. RREED ERRELBHEIRES.,

Keep working in the current way for as long as they can manage to keep everyone satisfied.

The disadvantage is that some team members are switching tasks often.

C) PREERIR (WIP) FHEEBBASINAMHEERRA. REAZENEEENFHIITIES.

Limit the work in progress (WIP) and introduce a visual management technique to the team.

The disadvantage is that the team needs to adapt to the new way of working.

D) #F7AERZEI=2EARRAMAVNERN, DRREEIRE. RREFIEFTEENEBESEZMNRFT

R TAERIIEE.

Split up into smaller teams of two or three team members to work on each project separately.

The disadvantage is that not all teams possess the skills to do the work within the team.
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BigBlue Software2—ZxRARMBIUFFRBHARINAT. ZATHRE— N FFRBI— Nz

BA. P EIAEBBESERIEIE, EfIG(ERNS. BTATME)N, MEFRTEXBiREX, BN
B\ B SBREED.

RHEIZIERS, PEBABBSICHE, SEUMEHINERIPHT. EXMERT, BASTTOMmfERE
Wi, BESETRERNIBARRER, BARRATFOZERCER. SFERBRARZGERN
5, SEINeIREIER.

TEWestrumBLMWEBLIRBRELNZBRZm?

BigBlue Software is a small company that creates software for other businesses. The
company has a Development team and an Operations team. These teams both have their
own managers, but they work well together. Because the company is small, and the CEO is
ambitious, the teams sometimes experience time pressure.

Under time pressure, both teams make errors that have led to bugs in the software and
outages. The teams have pulled together on these occasions to solve the outages, or to
swarm on a problem to solve it as quickly as possible. The managers are proud of the team
members for openly sharing mistakes they made, cooperating to solve it, and delivering
customer value.

Would this organization benefit from a change in its Westrum organizational culture
typology?

A) B, NRIIEZIBEENEEEILIEL, AL AERE, NMiZLERE.
Yes, the organizational culture is bureaucratic as can be seen from the team structures with a
manager and should be changed.

B) 2, MWEATMIERILAEY, ZBLSULHEE, NiZLEEE,
Yes, the organizational culture is pathological as can be seen from the mistakes made under
pressure and should be changed.

O &, NEFMo=ERALER, ZALHWHAENE, FNIZEERE,
No, the organizational culture is generative as can be seen from the cooperation and sharing
mistakes and should not be changed.

D) &, NEEEFMERLEL, BRI ATHSME, FZLHEEE.,
No, the organizational culture is market oriented as can be seen from the call for customer
value and should not be changed.
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—ERARLRFD, BRFTEARRZS (MIRNENEXN) , BABRFFIEBRER,
RRE, BIERFME, FHIE—STERAIRTME,

I ZIXEXSRY?

A team member states that the organization needs organizational learning, sometimes
called a generative culture, because it enables helping the customers, ensures quality, and
creates competitive advantage and a committed workforce.

Why is this true?

A) BAEARFIBRERIER, ILERBRRN ABSFFMNHIRERE)|
Because organizational learning means identifying mistakes and holding individual team
members accountable to learn from them

B) ENERFFITRE LR F ISMHAEEIIETT7E, LUSINREN
Because organizational learning means keeping the team educated on the latest Agile and
Lean methods to increase the flow

€) EHESREIEE iR DRSSt SR E M EL =
Because organizational learning requires a mindset that makes employees feel supported, and
values their judgments

D) ANERFFIFE—FARIN, BeBENRRIZLMELHBAE IR
Because organizational learning requires a research culture that automatically creates
hypotheses to make informed decisions
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RANK R E RG] —10 X T BEE DevOps BB RATHTEER.

BF—INEREEDevOpsHBARL RAVRERER?
A human resource team is asked to write a new policy for hiring DevOps team members.
What is the best policy for hiring DevOps team members?

A) RIFNEBEEED EAER, FATERENENTRSHEENNEEE, FASHEEEFTEIEEFR
Ei[INZ7ZES
Allowing applicants to apply without a name on their resume and preferring applicants that
bring diversity to the team, because this leads to better team results

B) RIFRIEREMNAIRABDRRRFRIEYF, HENIEEM], BAXFETLUREFARNRATTHIA
il
Allowing managers to research which employee performs best at another company and trying
to buy them away, because this makes the best people part of the team

C) (BEANBECA TR SEANEMEARRAINIEE, EHAXERIERESHFE
Allowing only those applicants who do not fully feel that they fit in with the organization or
with the other team members, because this fosters diversity the most

D) RIFNERIMRRIEEE CRABNBERR, EAXH—S{EHE M ERITMEFES
Allowing the team members to select the team member that they identify with most, because
this brings more harmony and equality to the entire team
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HADGEELHRETABRWMSH. XEYIEETEARN—REXRTR, RIEEEERERAT
EFCENREE.

Hp—EAESHVERA. REFMSFHHNASXEEHRS, EMIfS8ANEE. EARRA
THERMERRNEIR, BAGIERIRERR AR,

BIRAZIES INT RS HEARLRFA NERRIIR TENEIARA, BXUFHEARTARER.
FEIEEARSE, ZERZUMERRER?

An organization has changed its management practices to Lean leadership. This is a big
change from the old way of doing things, when management would regularly publicly
shame coworkers for mistakes they made.

One of the teams is a distributed team. Although the team is much happier with the new
leadership style, their communication is not optimal. The team members are not discussing
bugs that they create or cooperating to solve problems quickly.

The team manager has introduced a business version of the chat tool that most team
members were already using privately, but this does not seem to have the desired result.

What is happening in this team and how should the manager solve this?

A) - BBARRXIHIR TEAAREZAG,
- ZIRN{EH EBEIS NERIE SRR IRIX NEEE,
- The team members are not skilled enough with the chat tool yet.
- The manager should facilitate internal or external training to solve this.
B) - ERABR{BAT RIS KUEHIEZSEN A,
- REAFETIUXMEEEE,
- The team members are still adjusting from the former leadership style.
- The manager does not need to intervene in this temporary process.
C) - EBARREANMSEFRITE XA,
- FIRVIE BEEHRIASERIB R,
- The team members do not trust the new leadership style yet.
- The manager must be thoughtful and express his pride in the team.
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HEREBARR T FE SRR ERIFA R A?

What is the largest direct benefit of making sure team members have meaningful work?

A) BT RLCIEER, RERTASIREMESILE,
It helps to decrease burnout and increases employee loyalty and engagement.

B) BETAEMEEERNZIZSEAIRTEDevOpsIie.

It helps to deliver all DevOps projects from the team on time and within budget.

C) BEITIEEEBAYIREE TR DevOps TAFRIEL

It helps to increase the confidence of the team that they can accomplish DevOps work.

D) BEITEREREIRR, ERREARSER,

It helps to retain the team members because no one wants to leave their job.
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RABETEZMFPEEHRRER, Bt, FFREHEIEEREED. SMERARREREFEA
R, EEZBHRREEEFR. BNERRIAEESTESE.

FAIERE T ILEHHEARR, BARIBAAATEER, RERKEIRIUFEENATTTM. 7
TRERIXANEE, FAIEREE SRR T TFERIUESSENRRE.

BRLATEIRAERF RN TIFERRIBARS EDRIRE?
A company has grown exponentially in the last two years. As a consequence, the
Development team is experiencing time pressure. Every team member feels like they could

use a vacation and some team members are even thinking about quitting their jobs. The
team has been calling in sick more than in other years.

The team manager has hired several new team members, but the workload is still perceived
as high, although all deadlines seem to be made just in time. To solve the problem, the

team manager wants to address the burnout complaints and stress more directly.

Which actions best address burnout complaints and stress?

(EBR7, FTF—R)
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A) - 5oEESITEE, EEEE—FPEERENNIER
- IEFIENSEZ ABR T ORI E
- Contract subcontractors for managing the increased workload during peak periods of the
year
- Give the team members access to professional mental help programs paid for by the
company

B) - {SATEHEIPARR—1TRBAYREE, RIS TRTEERARE
- BREEEFE TR A S T RNER
- Give all team members a month-long vacation to ensure a fresh start when they return to
work
- Ask the managers to identify all factors that might be contributing to burnout before the
team returns

C) - iILEBARRINCIIREFRIFIEES, IUKIBLESEEX
- BIRAE XAUES FHHHREIABETE BT ABRIRER
- Have the team members discuss all tasks in the process to discover which tasks are
meaningful
- Remove tasks that are not meaningful and ensure the team can make most decisions on
their own

D) - EISEMIRNETE, RetpRIE BB R G T ESER
- LEFBAAL R B E SRS EIENGHAYIAG, HEFTHIE &
- Hire a more competent manager who knows how to create work-life balance for the team
members
- Allow more time for the team members to settle into the new environment and find a new
balance
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TEMES A AEDevOpsHEEZHAMNNEELZ—.

A AZEGS IS TFENELRNIDevOps I EXEER?
Transformational leadership is said to be one of the most overlooked aspects of DevOps.

Why is transformational leadership essential for DevOps success across the organization?

A) ErkBEEHREEENEREEMIZERZEUIREERS
Because commitment from upper management allows them to change processes to
counteract resistance

B) RANMRARAERT (BESKEEE) #7#DevOps, DevOpsiEak
Because DevOps will fail if not all employees, including upper management, understand
DevOps well

C) ENEEF BT ESTESR ESEERHER
Because the changes that are necessary for continuous delivery must be mandated by upper
management

D) AASREEREVREERT, HEmbiIERES P Tk
Because upper management must trust employees and encourage them to experiment
without punishment
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XHRLAFDevOpsHIRRVER TIREISNZE—TUREE . ©XIFBEITRUAIME, HOEGERES
IS MBAYERPIREHIMAAEEF T, AR T ERLE.

NN EEEREMA?

Continuous monitoring of the maturity of DevOps in an organization is a critical capability.
It enables collaboration across IT specialties, and reduces or eliminates unproductive
behaviors that all too frequently appear in organizations with operational silos. Continuous
monitoring is different from conventional monitoring.

What is the main requirement of continuous monitoring?

A) FRHATTEBaARIFEPAE

Bringing a component to the desired status in a fully automated way
B) LA ARBEAIEHER AT MMERFIHE L

Getting Development and Operations to work together in each value stream
C) REFBAMNEFRTEFRE

Having organizational alignment and a focus on the production environment
D) XM BRRISIRNRARHITRE 7

Taking a holistic view of the organization’s complex application environment
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EERANNDevOpsiAER, BEENERENSHAREEFAN. BRIBEHREESHEERNRA
E. DevOpsiratifbZRARILARRA— AT,

DevOps 5 RRINME S BIRERMFA?

When looking at an organization’s DevOps maturity, it is important to have a
multidimensional perspective of the organization, its capabilities, and its maturity in each of
these dimensions. The DevOps continuous assessment architecture can be represented as a
cube.

What is represented on the sides of the DevOps cube?

A) AE. RiR. EIMELRK. R, BENEERIE
Flow, feedback, learning and experimentation, governance, deployment, and quality assurance
B) XN, E8. 3. ih. =HIRIEN
Monitoring, information, communication, assessment, control, and activities
O AR. WfE. B BR. REFRIERK
People, process, partners, technology, quality assurance, and culture
D) F#K. ME. BR. BR. HKAEKEE
Requirements, processes, resources, organization, maturity, and capability
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BT EIEIRESWHIRTA?

What is the most effective mechanism for migrating data in an automated way?

A) SIEBRVINEIRELIRIR A EE

Create smaller datasets to keep migrations manageable
B) HIEEBRMETHIEIRIER

Develop a rollback procedure for when the migration fails
C) MRTEITRBEIERIRIMIAS s

Ensure proper testing of scripts before migrating the data

D) R EHUEEENRAZHIF RO A=

Set up database versioning and keep strict version control

A) R, TIRAMEHECENCENEE, HEEXNTKREE,
Incorrect. Implementing version control is more important for automation. The size of the
dataset should not matter.

B) &R, XEBFXNITRAMETERBAIREERE. SCIMRAEFILL B EANEER, SRLBGLIEERE

.

Incorrect. This is focused on recovery actions to take if the migration fails. Implementing
version control is more important for automation because it prevents migration fails.

0 2. REWARES, BT ENLENEE,
Incorrect. Although testing is important, implementing version control is more important for
automation.

D) IFffs. YIEUERFHITHRANZHIZ BaERE8iRiIRENH. (O B, 5128)
Correct. Versioning the database is the best mechanism to migrate data in an automated
fashion. (Literature: B, Chapter 12)
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RENCESCM T FEEERE, —IIEBERAEHIT. BBVANXRREA ISR ERTH TERAY
WEZEE,

B2, BGRSBEAHAEWIE ZHHIm B REBERAES .
BIARSE AT A AR?

A team has implemented continuous deployment and everything is version controlled. The
team feels this is necessary to find errors quickly or roll back whenever necessary.

However, the team lead argues that it is not recommended to keep binary output in version
control as well.

Why does the team lead say this?

A) ENEFRFLIRZ(FAIE SRR EIER T
Because a recompilation must be always be done as a regular part of the normal build process
B) FEATHBIMHE MY, BREHEEEE, TUNRRIEEREE
Because binary output are large files that change every build and can be recreated from
source code

C) EAZEBAKRLE b SR AN Bl E
Because multiple team members work on the binary output which makes version control
difficult

D) FEN—#HHamtHEmERaImAN, FEEERRFERS =S H
Because the binary output is the input for compilers and cannot be kept in version control
properly

(BEXRZ, ET—R)
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9]

D)
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IR, REEFRFRCIETHSIEY, EfENEENRFEALEEEEIENENATHIT.
Incorrect. Although recompilation would create binary output, it is not advisable to do
recompilation as a regular part of the normal build process.

I, —HEIBBEANY, SXmFIEEENCUKRIENBSERCE. BEEEITRFER
ANEHIFRUTERIA, ATLANRRIBRERCIE T HEE, MUATE—RRBXYME., (X
Bk: B, 28)

Correct.The binary output are large files and recreated for every check-in that is compiled and
passes the automated tests. They can be recreated from source code by rerunning the build
script which is kept in version control, so there is no need to keep these large files as well.
(Literature: B, Chapter 2)

HiR, SIS HANRAEEHAEME, REATISERR.

Incorrect. Version control for the binary output is not difficult, just impractical.

52, THEBHEMTE0RL, AR, SALRGERAET, BE0E,

Incorrect. Binary output is the output of compilers, not the input. It could be kept in version
control, but that is unnecessary.
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REN—BEECIEERE K. (RIS ERIISEIN T ERIBRER, FHRE—LERR B EE
HEME, ERTUARKEIBABRATIT. BRIlAmRREERA—X.

IR IS BUHERE MK LR T —2P 1516,

- AkiZRTR: "RAIRNOZSTH— P IRERABRR, HIBRIAYERAT LT HE RIS,
- EmEFR: "M ERONR B, —BSmRAIRWesEil 7 Banit, AT LAFF

mEMAHT. "
- Kenzr: "BBIVKEGEARNMERN—BD. B, EHITEMSIRT, FHiINizseiRE7ES
m (WIP) . ”

- Martsirs: "BUERRINF, FIEXLLI T 8HR. IEIRRREYTITE, FRLAFINIZE
FRAM. "

EXMERT, VRN ERYF?

A team has been working on creating a deployment pipeline. They have achieved single-
piece flow of their process successfully and have some basic automated build and
deployment processes, but the unit and acceptance tests are still manual. They currently
release every month.

The team discusses what to do next to improve their deployment pipeline.

- Aki states: " We should increase the frequency of the releases further first. The other
missing elements will follow from the problems that we will run into by doing that."

- Em states: "We should automated the rest of the tests. Once we have automated unit
tests and acceptance tests, we can start automating releases."

- Ken states: "The deployment pipeline is part of the value chain of the organization.
Therefore, we should first limit the work-in-progress (WiP) before we do anything else."

- Mart states: "It is going well right now and we have achieved single-piece flow. There is
no reason to take any action right now, so we should wait for the organization to mature."

Whose suggestion is best in this scenario?

(BEXRZ, ®T—R)
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D)

A)

B)

9]

D)
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Aki
Aki

Em
Em

Ken
Ken

Mart
Mart

Hix. ERDEEENMMESEIEMRZBNEINAREEZETE N,

Incorrect. It does not make sense to increase the number of releases before the release
process is automated or single-piece flow is achieved.

IFff. BEESNIZEIIRKERIRMR. —BIAREER, MNXMERT, NSIEmt, 52
KhxeEat. (Ok: B, $58)

Correct. The first priority should be getting the single-piece flow of the pipeline in place. Once
that is done, as it is in this scenario, automation should be implemented until releases are fully
automated. (Literature: B, Chapter 5)

iR, HTER\NBERIEERRMR, ERATEEEERFIERR, HERELEXAM. BBt
HERE TR L

Incorrect. Since the team is working with a single-piece flow it is very likely that they are
already limiting WiP, or there is no need to do that. Automation will move the deployment
pipeline forward.

Him. AMHIEEINEE, VFROREMMERD RIS KRR, BalUBHEHERE K.,

Incorrect. Not changing anything and waiting for the rest of the organization to mature is not
very helpful. Automation will move the deployment pipeline forward.
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BANEEA— T mI RSB K. FRATICERE KRR ER., 1 EESS sCIFEaese
B

—(IEBARLRFRD: "FeRHIEN (DoD) MAZ{ERZMEBREHZAIEN. WMRABERZHNAHTE
DoD, T{EmixiE. "

XA R R IE?

For a new product, a team needs to develop a deployment pipeline. The team discusses the
commit stage of the deployment pipeline. They are working towards continuous
integration.

One team member says: "The definition of done (DoD) should be defined during or before
the commit stage. When code does not adhere to the DoD when it is committed, the work
should be stopped.”

Is this true?

A) B, EABBALRRIIIEARS, ©ZBIFLA)IRE.
Yes, because the team member is not doing their work correctly and must be reprimanded
immediately.

B) 2, EATEARFSDoDUTTEBINGME, A FLIER,
Yes, because work that does not adhere to the DoD does not add value and should not be
committed.

C) &2, E/DoDREEFRWHEIEN, HRAZMERAIEARME.
No, because the DoD is defined during customer meetings and is not ready before the
commit stage.

D) 72, AFHMBRKEHNITIELMARIEE, TIEKNEARRAHIL,
No, because work in the deployment pipeline must always flow and work may never be
stopped suddenly.

(EBR7, FTF—R)
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A) EiR, TIEMOzHIE, EATELDEEIMNME, ANTFLARSE. B2, XA EEWEEAMRAT
EARE, BERBARRZRZEIRF.
Incorrect. The work should be stopped because the work adds no value and should not be
committed. However, this does not always mean that the team member is not doing their
work properly or that the team member must be reprimanded.

B) IFffs. HBTIEAFFEDoDR, NEFBESEX, REEBINMESEMASBEEES. ETEHRMER,
XSIERERIMETIFRYREN. (KBt B, 535)
Correct. When work does not adhere to the DoD, there is not enough value for the customer
to put it in the deployment pipeline. Considering single-piece flow, this would delay the flow
of more valuable work. (Literature: B, Chapter 3)

C) $HiR. DoDRMEFETAKR—HNERZ—, FEAEZFRVHREENN. H4wiSFTiaed, DoDRL
ZEETAE.
Incorrect. The DoD is one of the first things that is agreed upon in a project. It is not defined
during customer meetings. When coding starts, the DoD should be ready.

D) iR, HRAAVABHIVERES, PILRBAVKEESERN., FAFEDoDRILIELAEINNE, AN
ZIEmKEH.,
Incorrect. Stopping the deployment pipeline is reasonable when there is something wrong
with the committed code. Work that does not adhere to the DoD does not add value and
should not be in the pipeline.
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HEPAERREN AR, BRI TIFSNBMEGEEE, IXBRSEMNERRE, FiEkE
FTRIKAYE, XEHPESE 7 XENRETRERER, SEREEKREAERLEERE S iEEh§hHY
XU,

BIRAEAEIT IS AR RIX N EIRE.
EilNAEA = 10 N

A team experiences many application and hardware failures after deploying application
software upgrades. When they were trying to recover a known good state, this took a long
time. The failures resulted in extended downtime for critical applications. Management has
asked the team to reduce the risk of disruption for the next deployments.

The team discusses how to solve this problem.
What should this team do first?

A) BRREUKLSEE, SREARMmIETEEm

Automate all tests and the build, deploy, and release processes fully
B) HAR—IIEBEIRA ST, LASEIREIRE

Ensure that everything is in version control to enable quick recoveries
C) LA REINSIEHEF A TIEE

Get the Development team to communicate with the Operations team
D) MFAREIBAHITEILA T iREREIIFE

Train the Development team to understand the deployment process

(EBXR7, FT—R)
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A) BiR. REXSHMSE—MNFER, BREEFHEPEHING. B—IEANRAEGG, FTLIE

B)

9]

JEIRBIEMERRSHERZR, BMERRTIHNEATERE.

Incorrect. Although this is a good idea in general, the problem is to reduce risk of disruption.
Getting everything in version control will solve the problem with rolling back to a known good
state, even if the rest of the work is manual.

IEff, B—IEANRAESIS, TTLUBEEREIEHERINSHRERE, (OJk: B, $1F)
Correct. Getting everything in version control will solve the problem with rolling back to a
known good state. (Literature: B, Chapter 1)

HiR, REXEUMSE—MNFER, BEREEEEFRHIXG. B—IEBMNRAESTS, FTLIE
EEREISHERRSHERZ AR, RMERAFRERIILRR.

Incorrect. Although this is a good idea in general, the problem is to reduce the risk of
disruption. Getting everything in version control will solve the problem with rolling back to a
known good state, even if the teams are not talking to each other.

D) &R, REFIIFTLASBEBNR HIERIREL, (BRI EFHRHIEAERFREIING, RAEHZES T

SPRIKHE,
Incorrect. Even though training may help the team reduce the number of failures, it will not
reduce the risk of disruption when a failure occurs. Version control is key in this scenario.
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RABRIEAETTRISCHERF SRSk, BRI ARBINERIXFFTRITIESIN, HEEET Mg THI=EE
HHEmHEIA.

EB RGBSR A ARISTRZ 2

An organization is planning to implement continuous integration. The organization’s
development team agrees with this new way of working and has already selected
automation tools, which will build software from the command line.

Which other activity is a prerequisite for continuous integration?

A) NIZEMEIREE, RANXRSE=TTEEMRAILESRM.
Absolute paths should be eliminated, because this is necessary for integration with third-party
libraries.

B) RrZi=HERIZREIEN, BT LR ILEEEX,
Infrastructure access should be controlled, because this ensures no one can make unapproved
changes.

C) NZiCERMMER, R/XEETFRAIFEESHAYIHE.
Value streams should be documented, because this helps identify areas that are in need of
improvement.

D) MAZEESZhRANES, EJ9XEA]LABRMERRYRIERTE. BEATHRIERR.
Version control should be established, because this makes it clear what was done when, by
whom, and why.

(BEXR5E, ET—RN)
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9]

D)
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IR, XANEEIHERRRSEDREM, I, REENREAATE, ERLER THIEH
=, PN SrEERmID =S =T K.

Incorrect. This is not a specific prerequisite for starting continuous integration. In addition,
although absolute paths are not desirable, they are sometimes needed, for example, when
integrating with third-party libraries that rely on hard-coded paths.

iR, XR—MEENDevOpsiEn), (EFNREIHFEEENAVSESTRE M.

Incorrect. This is an important DevOps activity, but it is not a specific prerequisite for starting
continuous integration.

HiR, (MERSENIZERE, (BXA RS ATETRE .

Incorrect. Value streams should be modeled, but this is not a specific prerequisite for starting
continuous integration.

TERS. FSSERAIRIT = AR, BRI REINAR BN, A BRREMEA
=, (X#Ek: B, $B38)

Correct. There are three things that must be in place: version control, an automated build, and

agreement of the team. Version control was missing from the scenario. (Literature: B, Chapter
3)
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RERAEE IR AAEot. Bal, AT EFE2E T AERE., BSOSk,
EEERAMMNESEERFNLE. BE, SERERMATEFPHIXEGERRAIRRTE.

HFBAGHES e, ARESKITERFRKHBEMCAIEEN. B, XESEE—LEF SN
X, —(UBARRET, RENFERAEMHETNAENNERR T FralRICli.

EXFER T, FARENIZSAFEECIRBEML?

A team is discussing their user acceptance tests. Currently they are spending a large
amount of time, effort, and money on manual acceptance testing. Management has asked
them if there is a better alternative. As a rule, management will favor the solution with the
lowest risk to production disruptions.

The team concludes that they have the ability in-house to automate all user acceptance
tests. However, this would take some time and increase the costs. One team member
remarks that a competitor has replaced all acceptance testing with automated unit and
component tests.

Should the team automate the user acceptance tests in this scenario?

A) B, EANKIZEKE, BapBIRASHETATUR, FEHBMCBEEREFRHIXG.
Yes, because automation will be cheaper than manual testing in the long run and this keeps
the risk of production disruptions low.

B) B BENXALSATERKNRAREIFEGE—R, MMEHEEFFRIXEL,
Yes, because this reduces the number of manual acceptance tests to once a month to keep
the risk of production disruptions low.

O) A2, EAATRKKAT LSRR RIARINFTEERRE, MR hiTiIXEE.
No, because manual acceptance tests ensure that all defects are found before releasing to
keep the risk of production disruptions low.

D) &2, FEABETAAMHNHEN TIRKNE, FHEXITIER T X LAHREFFRTAIXBL,
No, because unit and component tests replace acceptance tests and the competitor proves
that this keeps the risk of production disruptions low.

(EBR, #FTF—R)
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A) IEf. WNREBASEKIRECUHMER B, KRB ERIAIES, RIHMREAIBF R HIAY

B)

9]

TR, XATLAMREFRUROXG, FEMNKTERE, BaURAREET AR, (@i B, 58
)

Correct. If the team can automate the acceptance testing stage, this will take pressure off the
end of the projects, while still finding the defects that show up in user scenarios. This keeps
the risk to production disruptions low and in the long run, automation is always cheaper than
manual labor. (Literature: B, Chapter 8)

2R, RERAMNNMZEREDNME, EENARERDALXNEE, MEEEECA T,
Incorrect. Although the team should automate, this is not to reduce the number of manual
tests, but to replace them completely.

iR, NKIERE, BaRARZETALRAS, ME—BNHASLESS, HEREHASMEE.
Incorrect. In the long run, automation is always cheaper than manual labor and no less
accurate if the tests are implemented well.

D) &R, BTAEMIHFA R ERAEENBFRAR. XSEINEFPIIING, SREXIFAIEE

a7 R.

Incorrect. Unit and component testing do not accurately capture the entire user scenario
experience. This heightens the risk to production disruptions, no matter what the competitor
does.
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RN B AN EATTR T —SANBEEF. BIZNAEER, SFREBEERE—AEIRE. 28E
WRES—AEFEK, FELTEBRELRE.

Bal, FREBARSRNISRER AT, ZIBRNE, ATURERIFREL.
FEREBAE FRMAZ M A?

A start-up company created an app for pet owners. The app lets customers find a pet sitter
for a day. The company owner is talking to a large customer and expects that the company
will grow fast.

Currently, the Development team has a manual process in place for testing. So far, this has
worked very well.

What should the Development team do next?

A) FEHFRCIEFTRIMGELASS IR B e RS

Create new tests for the Operations team to automate deployment
B) (RIFATIN, ©ERNEIMFTRIATILR

Keep the manual tests and add new manual tests if necessary
C) FFEIRENEAFNEFANENE

Wait until they know how to create value for the new customers
D) SizHHIAEIFRE BaMLlid

Work together with the Operations team to write automated tests

(EBR7, #FT—R)
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9]

D)
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HiR, SERNOZERRENN. FARBAARRIZIE4ER RS M.

Incorrect. The teams should work together to write tests. Development should not write tests
for Operations.

iR, ARRTET, REATNSFERAXKG, ATRESZHE, TRENE

Incorrect. Keeping manual tests is a large risk when growing. Doing anything manual is error
prone and does not scale well.

HIR, REVBEHIER, FEREEHIRIER PSR R

Incorrect. There is no need to wait for the new customers. Many of the standardized,
automated tests should be doable even without a customer.

Eff, SEIZAERSEML. XEMTIERES RIS REONRNEE, EABSHUE
BEAy M. (OOt B, $8F)

Correct. The teams should work together to write automated tests. This will help keep the
performance of testing high even when growing fast, because automated testing is scalable.
(Literature: B, Chapter 8)
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R DevOpsHEIAEE 4T A NI HAR MR B B R EIIETE.

ZEARKEERREA?
A DevOps team uses the data in their databases during software development testing.

What is the largest potential problem for this team?

A) WA SRR NI R 2R

The access to data from locations outside of the testing database
B) EZRDABSEFEUERIRT IR

The accessibility of production data when working from home
C) RATEIMRAIRRENEERAT Bl

The availability of representative test data for automated testing
D) MEZReEHEREINAE LNZ2

The security of the available security controls on the test data

A) EIR, BUEEPIEIREREILF AR,
Incorrect. Data in databases can always be accessed concurrently.
B) iR, FEFRNNHAEMAMEREFEUE.
Incorrect. Production data is never used during development testing.
C) IEfa. WiBIEFREEBARESEE. (@l A, F45)
Correct. Test data needs to be representative of the production data. (Literature: A, Chapter 4)
D) iR, EHHAE, BEAHTERNEAEH TR,
Incorrect. During testing, security controls on test data are not usually required.
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Kamala2—&ER%Z 01N, RESHE—FARNEMATNIRREGTTASE. tHEEBR
Z—RIESREMBRIEEZERIR.

KamalaZWEANIZEEERE LT AR, BIBERREEMTNRIBEIEHERIEE MRt
anfEHA.

HbAYEIERODAEEIX—IRIN, MENISIEER, A M EEIEIBERR SRR~ RP.
INIFRIREIARLZEER, NEEETHA.

HERERIAY?
Kamala is an information security analyst responsible for improving the current software
development process of an open finance company. One of her main goals is to increase

awareness of information security during coding phases.

Kamala has advised that teams should 'shift left' on information security, which means that
it should be integrated into the entire software delivery lifecycle from code to operations.

Her manager Rob disagrees with this proposal and suggests hiring specialists to build
information security into the products once they are ready for deployment. He argues that
the developers are no security experts and should be able to focus on developing.

Who is correct?

A) Kamala, RANRBERATHRRETEREEEN, NRKIZKE, TLHEEERZSTARIA.

Kamala, because an earlier integration ensures compliance with relevant laws and regulations

and will make building secure software cheaper in the long run.

B) Kamala, EAEARRATUBTEIIECSHAREER, AHALUDEREERNIRNA.
Kamala, because the team members can get trained to become security experts themselves
and this will save the salary costs of a security expert.

C) Rob, RARIFHIGZRETEELERELHHE—ERI, HIRIBEHRE T mP SR,
Rob, because it works best to create a set of policies based on information security best
practices and hire an expert to implement them in the products.

D) Rob, FENFATEMHLNIZE TTHRRMEX—ZMES, MARRATEER.

Rob, because Developers should indeed be able to focus on their core task of developing
software and not be burdened with becoming security experts.

(EBRe, #FTF—R)
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A) IFH. EREZEEDevOpsHIMMER, NAARNTXHR—ES. LHh, FREIEE LSRRI

B)

9]

FERTHAKEBEEZSME. (KBl A, SB4EMHE6E)

Correct. Information security is a mandatory subject for DevOps and should be a part of the
company'’s culture. In addition, developing with security in mind will be cheaper than building
security in once it has been developed. (Literature: A, Chapter 4 and 6)

iR, TR B AR —RE, (EARUBERE NN, DEZAANETREERNIEMN
X, MAETREMIGE. FEEERFMBELHRIATRYE.

Incorrect. A training can help teams to understand the subject, but it is not enough to change
the entire environment. The savings are not in the salary costs of a security expert, but in
more rugged software that complies with laws and regulations and does not need rework.
Hix, BLEMTHGETRENREEXUCERRRERR2RNENEIIAK. Ik, ITE/FEER
EMBETERTHRER Y, MAER, BEREL.

Incorrect. A top-down approach might have little effect on teams that need to address
information security on a cultural level. In addition, creating rugged software that complies
with laws and regulations and does not need rework will be cheaper and better.

D) iR, ERTEREDevOpsHIMER, NANATIMMUR—ERD. FTEMNEEEENELHRITAIEE

B, PRAER, BEREL.

Incorrect. Information security is a mandatory subject for DevOps and should be a part of the
company'’s culture. Creating rugged software that complies with laws and regulations and
does not need rework will be cheaper and better.
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FEHIRKIFLERAA?

What is the largest benefit of continuous delivery?

A)

B)

9]

D)

A)

B)

9]

D)

VAEBRRY S USSR T AR B9 — B ROk RE.

It enables conformance and performance of software development in a transparent manner.
HRIE AT EIA R SEHE A B A IRATE.

It ensures that corporate governance processes are enacted in software delivery teams.
KiEEBER LRI EAIERATIL 555,

It focuses on the time to market of deployment and enhanced business performance.
5|INBELABREXS RG-S RIAIERAIFB K,

It introduces automation to reduce the need for compliance and assurance of software.

IEfA. BTSSR —EUEAEERIR N 2IFEs rItz 0.  (3Z#k: B, 5815%)

Correct. The principle of achieving both conformance and performance is at the heart of
continuous delivery. (Literature: B, Chapter 15)

Hix. HEAIFE T ARNREMWSRE, AARXE—MERRTEIE,

Incorrect. Continuous delivery balances corporate governance with business governance and
does not focus on only one type of governance.

Hix, LHIEREE, TLUBEIFERIIN, BRARIFER ST —EUIERIREE,

Incorrect. Time to market is important, and may be achieved using continuous delivery, but
the largest benefit is achieving conformance and performance.

iR, BoAREATRESEMEEIDE,

Incorrect. Automation does not make corporate governance or compliance unnecessary.
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HEPAEAEFA—ANARER, FREEFARBRHEE. ERESIHSN E, FBASNIZR
FRVIBFRSE R R SEIFFERRRAT

EBARLZ S A ?

A team is working on an application and wants to start working with continuous delivery.
During a process improvement session, the team discusses what practice they should use to
achieve continuous delivery.

What should the team do?

A) EBARIZFFRfEAScrumFAEIESLE,, FESZREAMITY, LIRS,
The team should start using Scrum as its management practice along with quarterly release
planning to increase agility.

B) HBARLZFHAEUIF RS o S AURHEEE S BN FRRI B s,
The team should start working on improving continuous integration of branches and
automated testing of their application.

C) BIRROZF s BB AR RIS TR,
The team should work on cultural change using Agile change management practices and
feedback loops for reporting.

D) HRARGZIEFRNEERAEN]R (Kanban) , ERIEIE—MABEZRA,
The team should work on Kanban implementation on the team level while creating a loosely
coupled architecture.

(BEXR5E, ET—RN)
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A) iR, REScruma]LAFSEIFBARSEEY, BAEDevOps TIEA R FEEEMHIFME. R, HIRLL
ZEE TR L.
Incorrect. Even though Scrum can help teams to increase agility, it is not necessary when
working in a DevOps way. Instead, the team should focus on continuous integration and
automation.

B) IFff. #FELEERK. hRASEHEIFNRGHTH R BB RIS R EF AL, (X
Bk: B, $3FFHSE)

Correct. Continuous integrations, version control and test routines are practices that help
teams to discover better ways to improve delivery rate and quality. (Literature: B, Chapter 3
and 5)

0) iR, XEXLHSHEATEEERRFR, SHFEERMNEXR. Bk, BNZE T HEEERFIENL.
Incorrect. These practices are related to organizational change management, not to
continuous delivery. Instead, the team should focus on continuous integration and
automation.

D) &R, MIBERMEEERN, BESDevOpsHIAMARER. HR, BNIZE T RSB
€.

Incorrect. Loosely coupled architectures are useful, but it is not necessarily connected with
DevOps. Instead, the team should focus on continuous integration and automation.
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HATXIF RS FESLHE 7 IR E, RS 7 DevOps., BIRNEELERE R MAVEMREIE, B
XSS T —LiaE,

BIAES DA A L T LA [E)RE:

- BTSN AEBERREBS X ITIE, FrABERIBORT RS Z—RRIE.
- —BERIBIAMIERIEEES, PSR AELR.

- BIRNE—MRAEHIRSE, (BF AR RERREESsdEn (KPI) .

- BEEAfREUEIN, AT HkESHERRIR (BIERF) .

BUEE S TRERRATE, WR—IIRIEBARIRE BN ?

A company has radically changed the development process from waterfall to DevOps. The
team wants to reduce the time between releases, but is experiencing some problems doing
that.

The team has found the following problems during their process analysis:

- A fifth of the sprint time is spent on porting code, because everyone works on separate
code branches.

- Whenever issues are found that break the build, the production environment must be
rolled back.

- The team has a version control system in place, but does not monitor key performance
indicators (KPlIs).

- With the increased number of releases more customer feedback, including complaints,
comes in.

What will help this team most to reduce the time between releases?

A) XEBEETETIFAR, THEBERD

Adopt trunk-based development to make porting code unnecessary
B) EIUMAALM, LABEIREFIKE

Reproduce test failures to prevent rolling back the live environment
C) ARELERMERHOEFIRFE

Use canary releases to reduce the number of customer complaints

D) MAENFAFA, IR SMERIXRESISR

Use more telemetry to monitor KPIs that show the business value

(EBR7, #FTF—R)
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A) IFtfs. EFETFRAREREAITFOS, BILER T SMIETFRIGHIRE. XFULIDEE, 7
B THERERMAVEREE. (8 A, 548)
Correct. Trunk-based development means no branching is allowed and, therefore, the
merging of separate trunks is eliminated. This will save time and help reduce the time
between releases. (Literature: A, Chapter 4)

B) IR, BRAETHOXESESHISIREA, WidFAEERRRX N,
Incorrect. The problem is the branching, which causes problems while merging. Testing does
not solve this.

C) &2, RENSEHMENMAEEE, SUeREILERIREN, BRANTRERErEIESN
AgiEl.
Incorrect. Although canary releases could have a positive impact from the continuous
deployment perspective, the largest problem is the time spent on porting code.

D) $HiR, BASINEUKARMFER, ESANRRLERENIDRTFEZERIETE.
Incorrect. Although introducing telemetry is a good idea, the largest problem is the time
spent on porting code.
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BE—IAARRNBEIMIAIR?

What is not a benefit of a loosely coupled architecture?

A)

B)

9]

D)

A)

B)

9]

D)

FR TA2IWR] LURSTH TR 32

Developers can work independently on software changes.
R LR EFGIE,

Systems can be changed and validated independently.
EARERCIEEEREE.

There is a minimum of project management oversight.
BTl RH B L.

Unit and integration tests are run automatically.

EiR. XENBEEETERNGR, BRENIMR, EACIHRT TFEE.

Incorrect. This is a result of a loosely coupled architecture and a benefit because it speeds up
the work.

iR, XENBEEMNENY, BEAESMIA.

Incorrect. This is the definition of a loosely coupled architecture and has many benefits.

IEff, XERSRETFN—0E, SIEEREEXR. (X8t A, $55)

Correct. This is an aspect of Agile working and unrelated to loosely coupled architectures.
(Literature: A, Chapter 5)

iR, XENBEEMERIVER, BRENIR, EACTETILIFE, BET ISR mfnEFa
K,

Incorrect. This is a result of a loosely coupled architecture and a benefit because it saves work
and helps to achieve continuous integration and continuous development.

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 69



=%IN

15/ 40

- REFNERNZNIRSHIEE, M LREIETHE.

- N FFERF AT USSR SZ AR TRRE.

- REFMBEBARE T LIEEN AR, BRE— MR IREINEIRIITIHRE.
- BIAR Rz T ERA 7 s8N e - FTKEAIIBILARSS .

Tinad[fal 4 BEERUFIEHS B IR/ B RV ERHERIGIALR ?

Tina is responsible for improving a products’ architecture and application environments.
During her first assessment of the applications, she notices the following:

- Deploys could be run at any time by the team as long they notify the service owners of
affected services.

- The applications could be deployed using independent components.

- Even though all team members could deploy the applications, only one developer has the
access and permission to do it.

- The team needs to run a handful of scripts to connect with the adjacent services that the
applications depend on.

How can Tina best help her team to prepare a better infrastructure environment?

A) FENFIRACIEMFESIR, XA JERE DR N AR R o] LIRSS N AR R T AU EL (D
ARSSE,
Help the team to create a loosely coupled architecture so they deploy code or release the
application independently of other services it depends on.

B) BRFERAREANSEFARTRENSINEEDAN, HITEARGH, FLUFNEBSIRIELHRT
AUEAHZRMA,
Organize a hackathon with all tech leaders and senior developers to innovate and replace the
current infrastructure with a new tightly coupled architecture.

C) EFEIEMPENAEFLUERKIRR, XEFAAAT LB THA, FIR THEMNBEFH TN
FRfEFERE.
Recreate the adjacent applications to remove dependencies so the team can run scripts faster
and deploy their applications independently of other applications.

D) XMEBARRFI TN AREFREEREAHIII, FFEMAIR, BIMATEETEZRS (CAB) .
Train the team members on deploying the applications safely, give them the appropriate
privileges, and make them a part of the change advisory board (CAB).

(EBR7, #FTF—R)
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A) IEHi, RBERMEFTSEIIESEEF IR,  (O08k: A, 5B58)
Correct. A loosely coupled architecture enables high performance and testability. (Literature:
A, Chapter 5)

B) &R, REDAMEHNTARERSRRTE TR, MARCIEEENEMIGINE. LI, RN
ES =
Incorrect. Hackathons are useful to bring people together or solve a specific problem, not to
create a better infrastructure environment. In addition, the architecture should not be tightly
coupled.

C) iR, EFNCIEPINAREFBESFEARENE, FHEINNEERIEIRRA.
Incorrect. Recreating the adjacent applications would take too much time and increase the
overall application cost.

D) #EiR. XEEHEZRLLWARSSHERIEE. TEESRNERENHKER, FRUTEEARDNT
MBEMFEEYL,
Incorrect. CAB meetings might go in the opposite direction of continuous delivery. The CAB
should be abolished and replaced by robust testing and automation as much as possible.
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KB B RSN RIRIAER.

RIRIIEEB L RZTA?
A deployment pipeline typically consists of multiple feedback loops.
What is the main benefit of using feedback loops?

A) MEFREBASEHEERNERTE,

Communication between the Development and Operations teams is improved.
B) BIZ. EoRMmAFRXIERRENRG,

High-quality software gets delivered to users more frequently and more reliably.
) EF&EEIFRIEPHNS T,

The customers are involved at multiple steps during the development process.
D) EHFHVTRFIGKOULE, (UAT) , WEERIZHEXAEEN.

User acceptance testing (UAT) is performed regularly to gather stakeholder opinions.

A) iR, BNEBEMREERRIRIA,
Incorrect. Team communication is independent of using feedback loops.

B) IEff. (ERARIRIATLAEME, HEaISEh I8, (SXk: A, $48)
Correct. Feedback loops are used to deliver software more frequently and reliably. (Literature:
A, Chapter 4)

Incorrect. UAT is a form of feedback; not a core benefit of feedback loops.
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KA RBNEERE T AT G- HERITIREME L.

B— IR B E X B IR TS A7

A software development team has been criticized for deploying features which do not meet
customer expectations.

What is the best way for this team to improve this situation?

A) EEERICIEIRZAIAEFIRECIIREER

Creating a standalone user acceptance testing cycle prior to deployment
B) FHEEMA@BXE BRI REIGETTEEH

Lowering the priority of other stakeholder requirements or fully removing them
) EBNMFRMBFRRERRESEERENL

Making requirements static or fixed at the start of each development project
D) AENFFREGEHRIARS KA mEXERINH

Seeking stakeholder insights actively throughout the development lifecycle

A) iR, XIGESRNEXNRESTEIR, TENEFABNSZEFIE—EE.
Incorrect. This activity is too late and segregated to improve the alignment between the
development team and the customers’ expectations.

B) $HIR, SRILTSFHFIKIERTUNE, MIRBIFIEERSBERRIEARRR.
Incorrect. Requirements should be prioritized based on a variety of criteria, not on which
stakeholder group has made recent complaints.

0) #iR. EEERE, BAENRHEMNEFRISBERONL,
Incorrect. By fixing the requirements, there would not be any opportunity to respond to
changing customer or business situations.

D) IEffs, MNRRIRAZEMELERN, BRANGZIMRS KBS mEENEL. (8t A, 58F)
Correct. If feedback does not come to the team automatically, the team should actively seek
that input to increase the quality of the product. (Literature: A, Chapter 8)
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DevOps. ##E. Scrum, #smilEMNR (Kanban) #BRELAZBRIGIV/IELUEIMNME.

DevOpsEEABRHRHAMIFNE?

DevOps, Agile, Scrum, Lean and Kanban can all add value to an organization in their own
way.

What unique value does DevOps bring to an organization?

A) DevOpsiBITiREFFENAATE, SLNEFIEIARERIA.
DevOps allows regular feedback loops from customers by setting a sustainable development
cadence.

B) DevOpst{RHAHERFIELERIRAEBERIBVESHRRIDEES.
DevOps ensures the Development and Operations teams use the same task board to
coordinate tasks.

C) DevOpsEFFHFEEAT, LASMAREREREZE PR HNME.
DevOps focuses on releasing continuously to deliver value to the customer quickly in an
efficient process.

D) DevOpskAtiRtEiikss, EBTERRESE TIELLEFTIEE.
DevOps provides the new services just-in-time while focusing on efficiency by eliminating
wasteful work.

(EBR7, FTF—R)
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A) EIR, FAREEMHR, RIGERERE, EXEFEEERTScrumai ibEEErsix, FIFDevOpskisF
A.

Incorrect. Feedback cycles are more frequent when development speed is higher, but this is
usually due to Scrum or another Agile methodology, and is not unique to DevOps.

B) {EiR. FHE—MESREERAINLEARIN. DevOpsHFERFAEIE, MAMUNEFERR—MESIR.
Incorrect. Working on a single task board is what Kanban would add. DevOps would require
the teams to cooperate, not just use the same task board.

C) IEf. IEBIMNMEFINURERIESWSSIEEMMA TR, BEMCRE. fIFSEIRMsING
BRfT, ALINMREEFEEESZME. (Ot A, F1F)

Correct. Adding value and optimizing processes are the keys to improving business continuity
and the Agility of the company. By optimizing processes, allowing experimentation, and
introducing continuous delivery, more value can be released to the customer more quickly.
(Literature: A, Chapter 1)

D) iEiR. MR ERREEARFE, BXETEREATHETAISIN, HIFDevOpsATiFa.
Incorrect. Delivering just-in-time and eliminating waste are great, but they are mostly due to
introducing Lean and are not unique to DevOps.
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DevOpsHIBE BT & T THEIMNMERRET ZFHEENZ L.

€2

DevOps aims at increasing customer satisfaction and the customer experience by focusing

on adding value.

How is this primarily done?

A)

B)

9]

D)

A)

B)

9]

D)

SR ANERE Bt

By automating testing and deployment
BRI ™

By delivering products more frequently
FRINEEMEA

By developing well-functioning products
REAFARGAF R TIE)D

By using highly skilled developers

HiR. BEPAZBEIMCEERISN.

Incorrect. The customer is not affected by automation practices.

IEff. DevOpsHEREEMEMIISEERTRG, NMRAZEFAIE., (SXE: A, $25)
Correct. The aim of DevOps is to deliver high-quality software more frequently and as such
improving the customer experience. (Literature: A, Chapter 2)

IR, BEFRBRETRIZTER, AEXAREEFARGEHEARKE,

Incorrect. Customers assume the product works well, so this would not increase the customer
experience beyond a basic level.

iR, EFAARIEIRRFFATREIMAIRA,

Incorrect. Developer skills are not noticed by the customer.
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£ DevOpsEIAKARIIME (FlIN-RA1E) SISFFARTRE. RHIENET BRI LS.

AT Al DevOpssLi?

Many DevOps teams use visualization, such as card walls, to steer their development
process. Card walls increase the team’s visual control.

How does visualization facilitate DevOps practices?

A) D RINBNTIRTTAEF R T tERk
By brightening up the office environment to stimulate productivity and employee happiness
B) AEHEARM—FMIFANEIERIUENSREHITE TRISH
By giving leaders a way to hold the team accountable for their activities and divide work
C) #HENEHEREIRISXIFPAIL SRR T/ AT
By helping management to gain control over the team and the work that must be done
D) IETIFARRIBEMWE, XEIPASHFISER R0

By positively impacting team culture and performance by making work progress clearer

A) EHIR, REFTIHALUSEWDAE, (BEUINEH A EERIBE RS IR T =ER.
Incorrect. Even though visualizations can look good in the office, they do not stimulate
productivity or happiness just by looking good.

B) 3HiR, 0 THBESRAZAIILRIRIN.
Incorrect. Work assignment and accountability are not influenced by visualization.

C) iHiR, EEREHARTRHMNERN, EFMEHDevOpssLik,
Incorrect. Management control is not the aim of visualization and it does not facilitate DevOps
practices.

D) IFff. AIHMCIRFA TIEHERBME, NMRSEFE. (XEk: A, $7E)
Correct. Visualization increases productivity by making the work progress clearer. (Literature:
A, Chapter 7)
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FRBIRNAT LATEERAVBS B AT FTRITHEE, (B@EAREZEIR,T, —TEESR 7 LATER:

- BlRERARTES .
- RERFETHBESER, BINFEEFRIFEFMNEPFEER.
- —BFRITHRERRHI, FFREAMREIERAK.

R Z BRI RIS TTRL,
EIBARZ QAT AR RIX N RIREE ?

The Development team can build new features within the requested time, but they are not
often delivered on time. An investigation shows the following problems:

- Regression bugs keep recurring.

- Although time is spent on fixing bugs, customers keep complaining about bugs in the live
environment.

- The Development team gets really stressed if a new feature is requested.

The underlying problem is that the team'’s testing strategy is not effective.
What should the team do to solve this?

A) FBARCGATEURKLARIRRRMNERBanit, FHlidiE) RS EBAR RIS FRATIAIR,
The team should automate all tests and the commit stage, and increase the team members’
understanding of the continuous integration process through training.

B) HBARCSFRESRITUI. EMFNEMERRBENE, FIBEURARTIFAEAZEIME.
The team should automate all unit tests, component tests, and integration tests, and increase
collaboration between testers and the Development team.

C) EBARCMSAEEES ML, LSBT RSB RANREEE,
The team should automate testing and the deployment process, and if necessary upgrade
hardware or update the system's configuration management.

D) HR\NIET BN AECRUNRFIREIMURAR, TR A4 A Z BIRIME,
The team should increase the collaboration between the Development and Operations teams,
by increasing monitoring and logging, and by using virtualization.

E) HBANMEHRITAEIN THRBITRE, FILRSTEHEZIRRINME.
The team should make sure the Development team understands the deployment process, and
increase the collaboration with the Operations team.

(BEXRZ, ®T—R)
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A) EIR, FEERTEEEASSSHEANEAAR X, RMRTET, SIRARMBENERMERT

B)

9]

K.

Incorrect. Not managing the continuous integration process properly specifically leads to
fewer than once-a-day deployments, broken commit stage, and long integration phase
between releases.

IEff, TR ESEEREE LI, FEAENBEBEHR, EARERF, FREERT,
FRIREMEDK, XEREALIEBTMRBFMEIAR SUHARIMERFER, (328t B, H155)
Correct. A non-effective testing strategy leads to recurring bugs, much time spent fixing bugs,
many complaints from customers, a low quality product, and stressed developers. This can be
solved by test automation and collaboration with testers. (Literature: B, Chapter 15)

HiR. BENESSHEBNER, EBEE, MAHABPINEARE, MHFEEMIMRREEE, LIRIE
SHEREEK. BT LS EIRRIX N,

Incorrect. Not deploying enough leads to long deployment times, low velocity, skepticism
about release dates, loss of trust in the continuous integration environment, and long
turnaround time to fix bugs. Automation and upgrades can help solve this problem.

D) iR, XERWREEEEAENIE. BEEEAZENRSSHEFTHNAPENE, BESGLEE

E)

B, INGRENEERK, MERSHERK.

Incorrect. This is the way to solve poor configuration management. Poor configuration
management specifically leads to unexplained failures in production, unmanageable
deployment events, more time for environment configuration, and a long recovery time in the
event of failure.

Hix, BEERENNESEHERNESSEHBHER. BRE, WARMEIPIRERE, XA
BAMEE, EEEREHTER, RMFARIENREEEIAER, DRERIRETRD.

Incorrect. Deploying buggy code or not deploying enough leads to long deployment times,
low velocity, skepticism about release dates, loss of trust in the continuous integration
environment, extended time to fix bugs, finding bugs that developers fixed a long time ago,
and few demonstrations and showcases.
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DevOpsHI—7HRMRIBX(E S SEENM R G A TIEM.

BF—TRRN A A TiE M Ra A ERE?
Part of DevOps is making sure relevant information is visually displayed for the Developers.
What is the main type of data that should be displayed for the Developers?

A) ZXRNEFRR (BEOFITIEERRK) | LUBHFF A TRRIPRIEEK
Customer feedback of the day, including complaints and feature requests, to allow developers
to fail fast

B) MAFFAIREIMAIEFE (BRFEIIENTE)  LMEEFRTRENZEN=S
Individual developer productivity, including number of hours worked, to allow developers to
compete

C) MERERHE (BREMERER) , MMEHFFATEIMHTHRERNRER
Overall project progress, including budget information, to allow developers to make strategic
decisions

D) FRELUE (BIEHMFERMRMEER) LB A TE)mE TIREIRER
Product quality data, including failures and defect rates, to allow developers to make informed
decisions

A) iR, EARKESTIREIEF KRR, AResHER.
Incorrect. Customer feedback is received continually during development and does not need
to be publicly displayed.

B) iR, TAEFEEREANZATIRR, ="EAZDevOpsHITR.
Incorrect. Individual productivity data should not be displayed publicly, and competition is not
the DevOps way.

C) HiR, WERHIENFATRIDRIAIENE, XETEEME FHFELAHET.
Incorrect. This type of data is not essential for the developers. It is management data and does
not need to be publicly displayed.

D) IEffs, FREHUE (BESIERIRER) SHATREMEX, JLEWLER. (Ot A, %7
g).
Correct. Quality data, including failures and defect rates, are relevant for the developers to
have visually displayed. (Literature: A, Chapter 7).
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RATBLEERMADevOps TIEA. MMNEAESH—MSZERERTEREEREIETE.

B—INEEEDevOpsIM B BEIRVRAESA?

A company has agreed to work in a DevOps way. They are searching for a way to manage
the entire scope of their projects that fits with that way of working.

What is the best way to manage the scope of a DevOps project?

A) FERGERITTR], FEERERTHRRI RIS TIFBUAR—E

Complete an iteration planning to agree on the items to work at every iteration’s start
B) FYITNREEIR RN AMITY, BEFMERRMIIAS

Create a full release plan for features, forecasting to customers what will be released
C) EXHE/NTAEFEE (MVP) , HiRESEEEREIR

Define what the minimum viable product (MVP) is and review as often as necessary
D) FEERERZENRETIFUER, HBEIEIRARREET(F

Set the work priorities before each iteration to help the team members pick work

A) iR, EHHIENX T BMSRIRANERIIE, MAREINIREEE.
Incorrect. Iteration planning defines the work for a coming iteration, not for the entire scope
of a project.

B) iR, RMitNEERTRUELRHEHNAS, MASEEEINRETEE.
Incorrect. Release plans are mostly used to forecast what will be released, not to manage the
scope of the entire project.

C) IFfa. NIAFmERRTEERINEEE, X5DevOpstE2E, EANBIFELURFAFL.

(Zik: A, 5E8E)

Correct. MVP management is used to manage the scope. This fits with DevOps because it is
very customer focused. (Literature: A, Chapter 8)

D) iR, MK AREAMTAY, ER/NTRFREANEE., W, TIFUEREERTENXRIBEIESN
ERAIIE.
Incorrect. Priorities may be helpful with planning, but the minimum viable product is more
important. In addition, the work priorities are mostly used to define the work for the coming
iteration.
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REFRTRBEREERET R I8, FEEHTIFEE .

A ABHRSIDevOpsEE?

Single-piece flow in software development means that the focus is on a single feature that
is continuously worked on until it is done.

Why is single-piece flow important for DevOps?

A) SRR TAF AR, aIFull, FHRFHEERIESR,

It allows the team to work at a sustainable and predictable pace with a constant velocity.
B) BIIR(ITERRISMIHRIIEE, FHEIFRAEIINE.

It helps the team to add value by delivering high-priority features when they are relevant.
C) EINTFBREBAR ARSI ESRIE.

It increases the shared responsibility of picking up tasks among all team members.
D) BIIIRFEISRENTIRERIZIALREE, AR,

It reduces bottlenecks by limiting the number of team members that work on a feature.

A) EHIR. XETEIMEA. BURRERSMITRIIIEERIRTTL.

Incorrect. This is what rhythm does. Single-piece flow allows features with the highest priority
to get done as quickly as possible.

B) IFff. BMRIEERSNARAITIERRTH. (O A, 328)

Correct. Single-piece flow allows features with the highest priority to get done as quickly as
possible. (Literature: A, Chapter 2)

C) $HiR. DevOpsEPBAMALOIERIE. BR, RHRREE, RACRERSNTRIIIEERIRTTH.
Incorrect. DevOps teams do share responsibility. However, single-piece flow is important
because it allows features with the highest priority to get done as quickly as possible.

D) iR, BETEERSICRAERISER. CHARGIRIA TIESRAIAL.

Incorrect. Single-piece flow allows features with the highest priority to get done as quickly as
possible. It does not limit the number of people that can work on that feature.
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TOOIATFEICTFHA— MM, XM HEBTEXRIIE. ZFEEMNUEAHE, FML
RIAFIFRHARER.

WSMEEREEAS, SETHESXRSEMXEE, MITNNSREENIA N ERREZFNER
SR, ITRIBEEEHIESDevOpstBES: MEBAMHIERRIREL.

Tool R EIEIE T — (B el AR R IS EUIEBRYZS.
PRRINAZES AR ?

The Tool Company is busy developing an e-commerce site, and this project is a high-stakes
project. Customers are dissatisfied and complain about the e-commerce site not working as
expected.

Senior managers on the business side argue that working in an Agile way will only increase
the risk, while the IT senior managers argue that it is the only way to deliver value fast. The
IT managers want to combine Agile with DevOps: releasing often and asking for input.

The Tool Company hires a consultant to make sure they do the right thing.
What advice should the consultant give?

A) TRABEETIFSIN, BAEENIDevOpsTIRAGI, ENEFERERIFHEE MG REEAZITUA
£
Do not work in an Agile way or change to a DevOps way of working because customers are
already complaining about the e-commerce site not working as expected.

B) XEUBUET (AT, 1BINDevOpstik, LEFARTREITRILIEREINTHIERIIER FRIRTKEPE, F
TSR R IR,
Work in an Agile way, add DevOps practices, give developers the freedom to deploy without
external approval and as soon as they can, and gather constant customer feedback.

C) XEBEEMDevOps TFSTICIZEEML, (BERMRIEEMATBFEEIRIIEEERERS

(CAB) ifitiz.

Use Agile and DevOps ways of working to create the e-commerce site but add manual user
acceptance testing and a change approval board (CAB) process before releasing.

D) HHFFARREEEEMDevOps TIRAT, BRAZFKMMM, LBIIEEFRIFAR.
Use Agile and DevOps ways of working within software development but only release finished
products to customers to prevent complaints and dissatisfaction from the customers.

(EBR7, #FTF—R)
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A) ER. REEZFROFER MXMITEENURE, BARMRIEE. RBERMFEERMZ REEL

B)

9]

FAZFRETEINERIE—RE.

Incorrect. Although this may seem safe because customers are already complaining, it will
make the problem worse. Failing soon and often is the only way to make quick progress and
give the customers the value they want.

I, REXHNFESBEHEZSNNHIIER, BRERRHREFRAMEXERELEFHERNRERE
B, (Ot A, $8E)

Correct. Although this seems to invite more dissatisfaction and complaints, gathering
feedback and quickly resolving these pain points is the fastest way to satisfied customers.
(Literature: A, Chapter 8)

HHR, BUEANDevOps TYEA T AREHA TR AICABRIZ IR A TR A,

Incorrect. Agile and DevOps ways of working should not be counteracted by slowing down
releases with manual testing and CAB processes.

D) tHiR. SUEMDevOps TIESHANBN A MmIIIENEFINMESRIREERITH.

Incorrect. Agile and DevOps ways of working should not be counteracted by releasing only
finished products and slowing down the rate of customer value and feedback.
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HEA—ENREEERNE, BNEEFREF. BGEEINLEFF5|A\DevOps,

EEERE AR TR ANETIEA, EFRENKRALUZR. AR5 RRATREREX
B, EIRAITE T XAMARE,

- Hichem¥&7R, BIAIAEARHTLINEHNE TSI, RAXAIREENESEFRAH. Bk,
BIBARIIZEE ST — N P R IRER.

- Kirat7R, HEESABIRARMRBEZETSE, JURERDSEITMEPRIRIFIETL. I1AAR
RERARNOZBE SR BT R E.

- Nazim¥R, HREERN. BOEFPRIFZEI, 7% IDevOps TIEG . EIMA TN
BEBBR BRI,

- RoseZR, RENTIERAIEEEIZFER, ERDevOps TIEARHH TS RERATEREHEMEENX,
S, WIREARLIIZERGEANR A= Bait, XBR&ESE.

EizpRT, HERENEERT

A team has been working well together, but customers are still complaining. The team
would like to experiment more and introduce DevOps.

Management will allow the team to experiment and change their way of working, but only
if the risks are acceptable. The company policy is to minimize risks as much as possible. The
team discusses this problem.

- Hichem states that the team should not experiment or change its way of working right
now, because this may lead to more dissatisfaction with the customers. Instead, the team
should build a customer feedback form.

- Kira states that it is always good to bundle changes into large releases to minimize
disruptions and outages in the operations environment. Larger releases should keep the
quality of the live product higher.

- Nazim states that they cannot change to a DevOps way of working until they are
performing well and have reduced customer complaints. Additional manual tests should be
able to help reduce the complaints.

- Rose states that it may sound counterintuitive but working in a DevOps way and
experimenting will reduce the risks most. If the team has automated the tests and version
control well, this is the best way to go.

Whose suggestion would work best in this scenario?

(BEXRZ, ®T—R)
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A) Hichem
Hichem

B) Kira
Kira

C) Nazim
Nazim

D) Rose
Rose

A) iR, EZBREF, MUHISEZEAHTIRRERIME, TREBEVITH, BRILEFEIR
EBIMENBIFEERNAERE.
Incorrect. Not changing anything and not experimenting would be a mistake in this scenario.
Experimentation is necessary to ensure customers get the chance to see something different
that they might like.

B) {HiR. REMEkE—METEENGZE, EXERARBHINGESTRH/NELIOFIKERER
1R, WRAEBINHSRIIENCERTLIEAER, NKEERTFAE R,
Incorrect. Although this sounds like a logical approach, large releases are riskier than releasing
small experiments and gathering quick feedback. If releases and tests are automated well and
can be rolled back easily, they should be less risky than large releases.

C) tHiR. REXLWIFFAEX, EMZEETREEFHEE, FABEERATLURIRKBEE/N/ME
TH, PEXFHREERESEERIFRTE,
Incorrect. Although experimentation sounds risky, it should help increase customer
satisfaction by allowing them to give feedback to small, less risky changes. Waiting for
customer satisfaction to increase would be the wrong solution here.

D) IEffs, FIFE—REEEHLHRESXIKE. JRMIEKR, ICRAENE VN ARENCESINATE
REY, RAFEXK. MEAVMETENKRE), SZERNERNLL, Ot A, $45)
Correct. Not every change will introduce more risks. Releases are risky when they are large,
not documented well, or tests are not automated, and human error is introduced. Frequent,
small changes are less risky, especially if they are easy to roll back. (Literature: A, Chapter 4)
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HEREEEE70FFI80FARIRE. XEXMEEENRRY, NEEFHREFEGRESR
RRAEFHMRRER A TN, AEEEY K.

— M EBASISINAH 5K, MIJRERBRIRIKENF R, XRMER—TEERIRE, WMRMERIR
BReEN IR IMEERIR LRR, BaR3IESERF.

EilINVRE o N
A web shop specializes in 70's and 80’s clothing. The web shop is doing well. Their current
customer base consists of people that seek period costumes, and clothing rental

companies. The company wants to expand.

A team discusses how to expand, and they decide to use hypothesis-driven development.
An example of a possible hypothesis for this web shop is that more customers will be
attracted to the web shop if its content is presented in a mobile app instead of just on the
website.

What should be done?

(EBR7, FTF—R)
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B)

9]

D)
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- BEREX—MRIR, BEBANREBRFRINAESEIGIE.

- Rfa, BMEZE— N OFHUERRIISRNTRFGE (MVP) |, FaleEFRIRAL

- ESEPHTEERIEE, SMVPHTIRT, WESFNMERAW.

- The customer defines a hypothesis, and the team determines what test or experiment should
be done.

- Then the team builds an MVP that supports the formulated hypothesis and tests the
customers’ response.

- The MVP is reworked after a short feedback round with the customers to ensure the most
customer value.

- EPRIEE IR REHRIR, BN SEFiaiEsgi.

- R, BERVERREFHITIE, BESRLNS/NTA~m (MVP) |

- BRESEFHARAMVP, FREFRERUARSRIZ.

- The customer develops a hypothesis based on their needs and the team talks to the
customers.

- Then the team builds and tests a prototype and determines the final minimal viable product
(MVP).

- The prototype is redeveloped as an MVP and the customer is presented with it to test the
hypothesis.

- BN EE RSB R E SR EIR.

- A, BIEIEE R B RIRAIEAFRSEIE s .

- BTSRRI O, RESMEFAHIEKESRIR.

- The team gathers information from customers and formulates a hypothesis based on that
information.

- Then the team determines which experiment or test can be done to prove or disprove the
hypothesis.

- The experiment is conducted and analyzed, and the customer is informed and asked for
more feedback.

- EIBAKEERIEHEREBERIER, FRIBEEKEIERIR,

- Rfa, BEBMEEMVPHEETIN, BRERNSERT.

- IREIG OIS S RN IR R R AR ERIR.

- The team gathers information from stakeholders and formulates alternative hypotheses from
this.

- Then the team builds and tests an MVP and presents it to the organization’s upper
management.

- The final hypothesis is formed based on the results from acceptance tests and the manager’s
reaction.

(BEXRZ, ®T—R)
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B)

9]

D)
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iR, AR N RE—SLARER faER. ER—RASHERIR. MREAMKIE, BATLUEL
FRIIE, FIERRIRIERZAI, RNGEMVP,

Incorrect. The same entity should develop hypothesis and test together. Customers generally
do not create the hypothesis. If there is a basis, the team could work from that. MVPs should
not be built before a hypothesis has been proven true.

HiR. ER—RASHERIR. NREAKE, BEATLIRLFRI(F. EIERRIRIERZR, A
FEMVP,

Incorrect. Customers generally do not create the hypothesis. If there is a basis, the team could
work from that. MVPs should not be built before a hypothesis has been proven true.

IEffe, BPBARLZ T EEFHRIAREEFRRIZ. FAREEMVP, (308t A, B4EFHE8E)
Correct. The team should understand the customer needs and test their hypothesis. An MVP
should not be built. (Literature: A, Chapter 4 and 8)

iR, XMNEI/FE R TER, BEEFRIGESREINMEN.

Incorrect. This option excludes the customers almost completely, even though the customer
feedback is the most valuable.
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B— IR RS B TSR AT A AR ?

What is not a likely effect of Lean management practices?

A) BRFALEEENAIL.

The organization gets a more generative culture.
B) HMARIIEEIRS.

The software delivery performance is increased.

0O BEAMRAEZTIFER.

The team members are less likely to burn out.
D) EEEREMXIEFE.

The managers will pay more attention to profits.

A) EiR. FomEELIECIERANAHNH, XE—MEEENAIIL.
Incorrect. Lean management practlces focus on creating flow and improvements, which is a
more generative culture.

B) (&R, HamEELHIENERNFRDER, XBEERESTHIEE.
Incorrect. Lean management practices focus on creating flow and reducing errors, which
usually increases software delivery performance.

C) iHiR, FBoEELETECIETHERIRAHAERES, XBEERERIARAEZ LIHER.
Incorrect. Lean management practices focus on creating a sustainable place and removing
obstacles, which usually means team members are less likely to experience burnouts.

D) IEffs, FBmEEANXKERE, Bk, FaEELHIECENY, XURSREEFHEE, HItR
LuREIGNIFE, EFEAREEENER. (O A, $7E)
Correct. Lean management should not focus on profits. Instead, they focus on creating flow,
which is likely to increase customer satisfaction. That last part may lead to increased profits,
but is not the management'’s focus. (Literature: A, Chapter 7)
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REABNEIRBIF AR RER R ERE RN FIFE A RYEE_ EBR T HkEk. X NEESE TSR
MRS, EREBEHEBRSERF, RSEUIITSAEEREHERN, XEMTHHRTRIEE
iR

BEARBRZRIRARE, REMNESLLH T TERARMENT. EABREERER, UF
B T iRl

NKIZRE, WERT =G RAM TR R E?

A team has challenges identifying issues and troubleshooting applications that are
deployed into their infrastructure. This is a problem because there are many incidents and
outages. Customers call the service desk often with complaints and the service desk must
reroute many questions to the team, which puts them under time pressure.

The team has no idea what the root cause of the issues is, even though they have mapped
their workflow and follow these processes. The team is working with a Kanban board and
seems to have achieved flow.

In the long term, which solution will help most to reduce the number of issues?

A) EIEPREREE TR, FERRIER DIREFRE
Hire a consultant to remap the workflow and set up new processes on the team'’s Kanban
board

B) ETRRSSEILGERERGERN, MMEHERAITIFRE
Free up valuable work time by instructing the service desk to stop rerouting questions to the
team

C) EEXSFNRRNEEEE, FRL—N=FHIASGH
Measure the team members’ individual numbers of issues and set up a competition to
improve

D) BIIFHELEE. CIBRGRIRFIREEA, iR
Set up a monitoring strategy by storing data, creating a dashboard, and setting up
notifications

(EBR, #FTF—R)
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A) iR, B\BERAEFERBERASII e, MAAEEE e EREH TIERABHRER, ZIeEa]
BEAEEANEERER, METEMAGEREFLUAT,
Incorrect. The team already works with a Kanban board and has achieved flow. There is no
clear reason to change the processes or to remap the workflow. The problem is likely outside
of the direct processes of the team and should be made visible by a good monitoring
strategy.

B) $HiR, BAXCRERRHRMERAANER, BRI ERNEERER, NBEMAISE
RS AR,
Incorrect. Although this might solve problems in the short run for the team, the problem is
likely outside of the direct processes of the team and should be made visible by a good
monitoring strategy.

C) $HiIR. RENEAZRDevOpstITIFA. BPANIZIEREE, MAILHEIR. ZIRI N ERMNNE
RN, MEdERRERETLUAAT.
Incorrect. Competition is never the DevOps way. The team should work together and not be
scared to make mistakes. The problem is likely outside of the direct processes of the team and
should be made visible by a good monitoring strategy.

D) IEffs, ES7AJSRYMEEREE, FLURANT BHERE S FmEaInE, Mina B TEBARBIEARA
FE. NKIZRE, XER&EEHMERGE. 008k B, H115)
Correct. Setting up a solid monitoring strategy, helps the team identify the root causes of the
problems, because it gives insight in what goes wrong and how often it goes wrong. This is
the solution that helps most in the long term. (Literature: B, Chapter 11)

#Ei{#£%5 EXIN DevOps Master™ (DEVOPSM.CH) 92




=%IN

30/40
RHABNEESS DRRI5erk TR, IR NmEF Az ™5

REEHIGR (WIP) PREIGNAIESBIFIBAIER S TAER?

A team is struggling to get work done on time. They struggle to get the products to the

customers on time.

How does imposing work-in-progress limits (WIP-limits) help this team to establish flow?

A)

B)

9]

D)

A)

B)

9]

D)

K2 SEMRIRTE M mEXEEARRIAE

By changing the roles of all stakeholders and team members involved with the team

FEENRBIREN, MTIENIEIRNBIAFMAIC T/E

By helping to identify bottlenecks that help the team to improve and optimize the work
UM R IBE LR EH SR

By improving the lifecycle management of applications and communication tools

PREIFIA TAFRrR Y L RN e FEE

By limiting the number of tools and applications that the team needs to use to work

iR, REFATRER R IR A RS =R AE, BIREWIPIREHFEEESE E5EE
A E AR R E.

Incorrect. Although the team may find that they need to change a role because they are a
bottleneck, imposing WIP-limits does not directly or always change the role of stakeholders or
team members.

I, REEHmREISEBTREMRM, NMAEEASEHR. (8t A, B7E)

Correct. Imposing WIP-limits will always help show bottlenecks and, consequently, help the
team improve their flow. (Literature: A, Chapter 7)

iR, REBARERARIM IR AR ZEEE N AR A IEE TRENEHRREE, BiRE
WIPIREIF A REE TS R —R.

Incorrect. Although the team may find that they should change the lifecycle management of
their applications and communication tools because they are a bottleneck, imposing WIP-
limits does not directly or always change this.

HiR. RER\ATESRIMIE AR EIRS T/ FFrm TR AEFSE, EiREWIP
PREIF A BEE SRR —R.

Incorrect. Although the team may find that they want to limit the number of tools and
applications they work with because they are a bottleneck, imposing WIP-limits does not
directly or always change this.
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REERERZSNIE, EERENEREEEFHEENRR. XEBNGERTEN, SREBEL
EFrEmE, BEERELCRETERNHE,

FIARZE— T SR RENSERIRMHAERENRN. MIFEtlERNENLSNENR
KiE.

BIRANIZ EAT?
A team works on several projects and management puts the same priority on all their
projects. This leads to pressure on the team to do work on all projects daily and report

progress on each project weekly.

The team needs a way to ensure maximum team efficiency and high-quality deliverables.
They want to deliver the highest customer value and business value.

What should the team do?

A) EE—BEARIEABRBA, BHIEEBREERSER. RREFAMAERREERINEFRIR.

Appoint one team member as a liaison to stop managers from directly talking to the team.
The disadvantage is that the team no longer receives direct customer feedback.

B) RERIRALEBIALLHEE, MELERNITELS. RRESD EMRREL BRI,

Keep working in the current way for as long as they can manage to keep everyone satisfied.

The disadvantage is that some team members are switching tasks often.

C) PREERIR (WIP) FHEEBBASINAMHEERRA. REAZENEEENFHIITIES.

Limit the work in progress (WIP) and introduce a visual management technique to the team.

The disadvantage is that the team needs to adapt to the new way of working.

D) #F7AERZEI=2EARRAMAVNERN, DRREEIRE. RREFIEFTEENEBESEZMNRFT

R TAERIIEE.

Split up into smaller teams of two or three team members to work on each project separately.

The disadvantage is that not all teams possess the skills to do the work within the team.

(EBR7, FTF—R)
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A)

B)

9]

D)
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HiR, XIUFE—EFEZENHRSE, BHRKRE, IMADevOpsEINSEFZERIER, MM
PE(RETE, EStEINIBFARTE,

Incorrect. This seems like a logical solution, but research has shown that creating greater
distance between DevOps teams and customers decreases quality and increases project
development time.

iR, BEFEEANH, BENEILIFEEL AR,

Incorrect. Customers are already unhappy. Keeping to this method of working will not solve
anything.

IEffe, BIISINESRREIFTHAEERR K (PINENR)  SEETIFNONER, XX TERRIREE)
BA. ERHERNMERRCHREXRNK. O A, F78)

Correct. Managing the work and creating flow by introducing WIP-limits and a visual
management technique such as a Kanban board will help the team most. It will ensure the
highest value delivery. (Literature: A, Chapter 7)

iR, BR—NIRAFNER —NMIBEHARRFAIRRS R, REEZFIERZIITRRRRA,
BRFXFMKE, BAEEEREHTHRMSRERLRE,

Incorrect. Solving one problem and creating another is not the best solution. Although
customers may feel that resources are dedicated to their work, dependencies make it hard to
deliver quality at a reasonable speed.
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BigBlue Software 2—ZxRARMBIUFFRMHARVNAT. ZATRE— N FFRBFI— Nz

BA. P EAEBBESERIEE, BfEIG(RES. BTATNE)N, MERMTEXNBRTIK, B
B\ B SBREED.

RHEIZIERS, PEBABBSICHE, SEUMEHINERIPHT. EXMERT, BASTTOMmfERE
Wi, BESETRERNIBARRER, BARRATFOZERCER. SFERBRARZGERN
5, SEINeIREIER.

TEWestrumBLMWEBLIRBRELNZBRZm?

BigBlue Software is a small company that creates software for other businesses. The
company has a Development team and an Operations team. These teams both have their
own managers, but they work well together. Because the company is small, and the CEO is
ambitious, the teams sometimes experience time pressure.

Under time pressure, both teams make errors that have led to bugs in the software and
outages. The teams have pulled together on these occasions to solve the outages, or to
swarm on a problem to solve it as quickly as possible. The managers are proud of the team
members for openly sharing mistakes they made, cooperating to solve it, and delivering
customer value.

Would this organization benefit from a change in its Westrum organizational culture
typology?

A) B, NRZZENENEHAILEL, RERSUCAHERE, NMiZTEELE.,
Yes, the organizational culture is bureaucratic as can be seen from the team structures with a
manager and should be changed.

B) 2, MWEATMIERILAEY, ZBLSULHEE, NiZLEEE,
Yes, the organizational culture is pathological as can be seen from the mistakes made under
pressure and should be changed.

O &, NEFMo=ERALER, ZALHWHAENE, FNIZEERE,
No, the organizational culture is generative as can be seen from the cooperation and sharing
mistakes and should not be changed.

D) &, NEEEFMERLEL, BRI ATHSME, FZLHEEE.,
No, the organizational culture is market oriented as can be seen from the call for customer
value and should not be changed.

(EBRe, #FTF—R)
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A) EiR. REEREEZE, EXFFAFAREFENHNTS. BMRRME RS =ERAHITEE,

B)

9]

XEENBMRGRE, EXFHT, AR RHEEE(FAZF iGN E.

Incorrect. Although the teams have managers, that in itself is not a sign of a bureaucratic
culture. The team members are not afraid of sharing the mistakes and cooperating. These are
all signs of a generative culture where all teams and team members work together to deliver
customer value.

iR, RERIEICHEHAEIE—EREEESD, EEMIANRBEIEERASIERRER, XEEN
BINMRRE, R, AR R E R GE AP EIENME.

Incorrect. Although the teams make many mistakes and are under some time pressure, they
are not afraid of sharing the mistakes and are cooperating to solve them. These are all signs
of a generative culture where all teams and team members work together to deliver customer
value.

IEff, BIRARBAMEAISICHE, (BRNERS=ER, HAEFRRER, EEREEANEIF. SENISX
MiTA. XRENEXWHRS, XM, REE IIMIJIBAE)ZE%IE%VE?S%F@UEWEO (X
mk: A, FE3E)

Correct. The teams show that they make mistakes, but are not afraid of sharing them and they
are cooperating to solve them, even across teams. The managers encourage this behavior.
These are all signs of a generative culture where all teams and team members work together
to deliver customer value. (Literature: A, Chapter 3)

D) (&R, BRI BRZARERUTDASRE, RATSSREARETFWestrumBREE, FIPAKR

MERDZERAHTENE, XRENEUIIRE, EXMXd, RN RILRSEES
EFEIENE.

Incorrect. It is not clear if the organization is market oriented or not because this is not a part
of the Westrum organizational typology. The team members are not afraid of sharing the
mistakes and cooperating. These are all signs of a generative culture where all teams and
team members work together to deliver customer value.
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—ERARRRFD, BRFTEARRFS (MIRAENEXN) , BABRFFIEBHEE,, #
RRE, BIERFME, FHIE—STERAIRTME,

I ZIXEXSRY?

A team member states that the organization needs organizational learning, sometimes
called a generative culture, because it enables helping the customers, ensures quality, and
creates competitive advantage and a committed workforce.

Why is this true?

A) BAEARFIBRERIER, ILERBRRN ABSFFMNHIRERE)|
Because organizational learning means identifying mistakes and holding individual team
members accountable to learn from them

B) FENBREFFIEHRE LR I SAISURIIE= TE, LUBINREN
Because organizational learning means keeping the team educated on the latest Agile and
Lean methods to increase the flow

€) EHESREIEE iR DRSSt SR E M EL =
Because organizational learning requires a mindset that makes employees feel supported, and
values their judgments

D) ANERFFIFE—FARIN, BeBENRRIZLMELHBAE IR
Because organizational learning requires a research culture that automatically creates
hypotheses to make informed decisions

(BEXR5E, ET—RN)
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A) HiR. REFIRANTLULIERFNPIREED), (EENEXUR B ARILERSEIRR

Incorrect. Although learning organizations could identify mistakes to learn from them, a
generative culture does not have the goal of holding team members accountable for mistakes.

B) iR, FIRANTREZBRNBHELRNFES, NUBDTIFER, HRFEutE, BRES
BB IR TAEIIX — .
Incorrect. A learning organization means that the organization has a culture that allows
experimentation and learning, which reduces burnout and results in continued progress.
Simple education in Agile and Lean does not achieve this.

C) I, MRRATREHZIEESH:, TIEMBENIEMRREN, FEShHEEEN, BBATE
FRESHEE. TIPNSEE, REREeES, BMARSHUKFEES. (XE: A, 5105)
Correct. People who feel supported by their employers, who have the tools and resources to
do their work, and who feel their judgment is valued, deliver higher quality work. Better work
results in higher software delivery performance, which results in a higher level of
organizational performance. (Literature: A, Chapter 10)

D) iR, FIHBAAHALEEREHTRFMAR, REXTRERFHN . FIBERHAITENR
RENM, MHUBASEHFMRIR.
Incorrect. Learning organization does not always mean that scientific research is done,
although that could be a part of it. It does not require a research culture and the culture does
not create the hypotheses automatically.
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RANK R E RG] —10 X T BEE DevOps BB RATHTEER.

BF—INEREEDevOpsHBARL RAVRERER?
A human resource team is asked to write a new policy for hiring DevOps team members.
What is the best policy for hiring DevOps team members?

A) RIFNEBEEED EAER, FATERENENTRSHEENNEEE, FASHEEEFTEIEEFR
Ei[INZ7ZES
Allowing applicants to apply without a name on their resume and preferring applicants that
bring diversity to the team, because this leads to better team results

B) RIFRIEREMNAIRATRRRFRIEYF, HENIEEM], BAXFETLUREFARMRITTAIA
il
Allowing managers to research which employee performs best at another company and trying
to buy them away, because this makes the best people part of the team

C) (BEANBECA TR SEANEMEARRAINIEE, EHAXERIERESHFE
Allowing only those applicants who do not fully feel that they fit in with the organization or
with the other team members, because this fosters diversity the most

D) RIFNERIMRRIEEE CRABNBERR, EAXH—S{EHE M ERITMEFES
Allowing the team members to select the team member that they identify with most, because
this brings more harmony and equality to the entire team

(BEXRZ, ET—R)
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A)

B)

9]

D)

=%IN

IEffg, HRRRATREHEMBIERAIRIL, FEMERSHM, XEEITRADevOpsERAIEEM TIFN
ge. (OZk: A, 5108)

Correct. Making sure bias is removed from hiring as much as possible and actively preferring
diversity helps the DevOps team to be smarter and perform better. (Literature: A, Chapter 10)
i8R, DevOpsEIRABEBSEZHMEMMIK, FRMEIMNENESITIFNEE. EEIRATIRRATES
THRIEE, (ERSTRSHMEIEER.

Incorrect. DevOps teams thrive on diversity and help the teams to be smarter and perform
better. Buying away people from other companies may buy you skills, but not diversity or a
sense of belonging.

Hix. DevOpsHIBARESE SRR, FHEIFARIHE B ITIFEE. BINESHMREAER;
B REBFER, DevOpsAfemt. BELHBBRNASESER.

Incorrect. DevOps teams thrive on diversity and help the teams to be smarter and perform
better. But diversity alone is not enough; people need to feel a sense of belonging to make
DevOps succeed. Hiring people that feel they do not belong achieves the opposite.

$#5iR. DevOpsEIB\REMBEZHMMIAIK, FREBIEEAESMIIFNEE. BEIEEBRIERAMR
SRR,

Incorrect. DevOps teams thrive on diversity and help the teams to be smarter and perform
better. Hiring very similar team members is the opposite from diversity.
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HADGEELHRETABRWMSH. XEYIEETEARN—REXRTR, RIEEEERERAT
EFCENREE.

Hp—EAESHVERA. REFMSFHHNASXEEHRS, EMIfS8ANEE. EARRA
THERMERRNEIR, BAGIERIRERR AR,

BIRAZIES INT RS HEARLRFA NERRIIR TENEIARA, BXUFHEARTARER.
FIREEARSE, ZEZUERRER?

An organization has changed its management practices to Lean leadership. This is a big
change from the old way of doing things, when management would regularly publicly
shame coworkers for mistakes they made.

One of the teams is a distributed team. Although the team is much happier with the new
leadership style, their communication is not optimal. The team members are not discussing
bugs that they create or cooperating to solve problems quickly.

The team manager has introduced a business version of the chat tool that most team
members were already using privately, but this does not seem to have the desired result.

What is happening in this team and how should the manager solve this?

A) - BBARRXIHIR TEAAREZAG,
- ZIRN{EH EBEIS NERIE SRR IRIX NEEE,
- The team members are not skilled enough with the chat tool yet.
- The manager should facilitate internal or external training to solve this.
B) - ERABR{BAT RIS KUEHIEZSEN A,
- REAFETIUXMEEEE,
- The team members are still adjusting from the former leadership style.
- The manager does not need to intervene in this temporary process.
C) - EBARREANMSEFRITE XA,
- FIRVIE BEEHRIASERIB R,
- The team members do not trust the new leadership style yet.
- The manager must be thoughtful and express his pride in the team.

(EBR7, #FT—R)
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A) HiR. EARBIRARIIFATERNIIRTER, XAKTERRZIBHIRR. ATEIATIEHER

B)

9]

TR, FATLAMIIE AR Re R NS BRSNS,

Incorrect. The team is using the same tool for private use. It is unlikely that this is the cause for
the lack of communication. Since they are not discussing bugs and problems, it is more likely
that they do not trust the new leadership style yet.

Hix. AAXIFHHNGSHRERE. XAKNTEERZIBNEE. BTFEMATISHERMIE@E, Fif
i IE B R RENMEERAIMSXIE.

Incorrect. The team is happier with the new type of leadership. It is unlikely that this is the
cause for the lack of communication. Since they are not discussing bugs and problems, it is
more likely that they do not trust the new leadership style yet.

1. HTFEATISERMEE, Efmt(RIseE M ERIRSXE. SIEMNIZRIH M
SHMBRELABRMERXNET@,  (OHk: A, F11E)

Correct. Since the team is not discussing bugs and problems, it is most likely that they do not
trust the new leadership style yet. The manager should show supportive leadership and
inspirational communication to solve this. (Literature: A, Chapter 11)
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HEREBARR T FE SRR ERIFA R A?

What is the largest direct benefit of making sure team members have meaningful work?

A) BT RLCIEER, RERTASIREMESILE,
It helps to decrease burnout and increases employee loyalty and engagement.
B) BETFHEMEEERRE R TEIAIFTEDevOpsIiE.
It helps to deliver all DevOps projects from the team on time and within budget.
C) B TIEERRARIEEBE ST DevOps TARRIELD.
It helps to increase the confidence of the team that they can accomplish DevOps work.
D) BEITEEEMRR, FERREARSER,

It helps to retain the team members because no one wants to leave their job.

A) IFff. ARIFLRRED TIFESMRSEWE, OBk A, 5108)
Correct. The largest benefit is in reducing burnout and increasing engagement. (Literature: A,
Chapter 10)

B) ${HIR, XARRMERNTIFERETFL, (ETRREERN. EEANFLEERD TIHERMRS
AV,
Incorrect. This is not a direct benefit of providing meaningful work but can be an indirect
effect. The largest benefit is in reducing burnout and increasing engagement.

C) iHiR. BMEHBAJRERISECARE, BXAATHKREMNESMAFESAIEND. i, BEXAIIE
A—EREEIMELD, BREARFLERD TIFERFIESHULE,
Incorrect. Even though the team may feel competent, that does not mean they have the
competence to do something. In addition, meaningful work does not necessarily increase
confidence. The largest benefit is in reducing burnout and increasing engagement.

D) iR, RETHETRSEHRES, BREABREBRX—RETRN. ERXIFLZRHSTIFHER
RSV E.
Incorrect. Although there may be an increase in loyalty, it is overly optimistic that no one
wants to leave their job. The largest benefit is in reducing burnout and increasing
engagement.
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RABETEZMFPEEHRRER, Bt, FFREHEIEEREED. SMERARREREFEA
R, EEZBHRREEEFR. BNERRIAEESTESE.

FAIERE T ILEHHEARR, BARIBAAATEER, RERKEIRIUFEENATTTM. 7
TRERIXANEE, FAIEREE SRR T TFERIUESSENRRE.

BRLATEIRAERF RN TIFERRIBARS EDRIRE?
A company has grown exponentially in the last two years. As a consequence, the
Development team is experiencing time pressure. Every team member feels like they could

use a vacation and some team members are even thinking about quitting their jobs. The
team has been calling in sick more than in other years.

The team manager has hired several new team members, but the workload is still perceived
as high, although all deadlines seem to be made just in time. To solve the problem, the

team manager wants to address the burnout complaints and stress more directly.

Which actions best address burnout complaints and stress?

(EBR7, FTF—R)
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B)

9]

D)
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- 5oEBRITER, EEEE—FHREBEINNIES

- IEFIENSEZ ABR T ORI E

- Contract subcontractors for managing the increased workload during peak periods of the
year

- Give the team members access to professional mental help programs paid for by the
company

- (BFTEREARR— 1 BRYREA, RIS TRIsERAITE

- BREEEFE TR A S T RNER

- Give all team members a month-long vacation to ensure a fresh start when they return to
work

- Ask the managers to identify all factors that might be contributing to burnout before the
team returns

- LEFRAB RITIE T BRI ESS, LURIIBEESBENX

- BIRAE XAUES FHHHREIABETE BT ABRIRER

- Have the team members discuss all tasks in the process to discover which tasks are
meaningful

- Remove tasks that are not meaningful and ensure the team can make most decisions on
their own

- IBEERIRAVAEIE, sEBANE IR AR R FEE TIESEE

- LEFBAAL R B E SRS EIENGHAYIAG, HEFTHIE &

- Hire a more competent manager who knows how to create work-life balance for the team
members

- Allow more time for the team members to settle into the new environment and find a new
balance

(BEXR5E, ET—RN)
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A) EIR, BAXIFHRTEMNREE, EXMERTEFREEEBRENSTIFERIES. (GRS

B)

9]

BIROERR, FRBRIERNRE.,

Incorrect. Although this seems to solve the problems of the team, this solution does not

address the stress or burnout complaints directly. It just creates a temporary relief and does

not address the root cause.

HiR. REFMMBEMRRTHRSN— M BRREIEX, BXREATHRRAAREL. it SEH

REMFRXAN RN,

Incorrect. Although all team members would undoubtedly be happy with a month-long

vacation, this would be very disruptive for the company. In addition, the managers are not the

best placed people to solve this problem.

I, HREIARRAETFITE BB EB XN, MEXESSHEMERENNHEDZVERE

5, XERBRXT LIFERIERS ENNREREIFSR. XRHSEEHERSR TSI EFHEE,
(3ZiEk: A, SB1EFMRA)

Correct. Ensuring that the team members have enough room to exercise their own judgement

while doing their jobs and are mostly doing meaningful or at least necessary tasks is the best

long-term solution for the burnout complaints and stress. Both these things increase

employee engagement and satisfaction. (Literature: A, Chapter 11 and Appendix A)

D) &R, EAREEEHXS T ARAE, MEMFHIERRIR. B EEAF R EE A AR

IREIRNERERITIE,

Incorrect. The team manager has picked up on the problem correctly and does not seem
incompetent. Hiring a new manager and just giving the team time is not a solution that
addresses the team’s problems.
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TEMS A AZEDevOpsHEEZHAMNNEELZ—.

A AZEGS IS TFENELRNIDevOps I EXEER?
Transformational leadership is said to be one of the most overlooked aspects of DevOps.

Why is transformational leadership essential for DevOps success across the organization?

A) EkBEEHREEENERREMIZERZELIKHERS
Because commitment from upper management allows them to change processes to
counteract resistance

B) RANMRARAERT (BESKEER) #7#DevOps, DevOpsiEaK
Because DevOps will fail if not all employees, including upper management, understand
DevOps well

C) ENEFER BN RV AHEREEEREER
Because the changes that are necessary for continuous delivery must be mandated by upper
management

D) EANSREREMRMSTERT, FamibltEeEs T
Because upper management must trust employees and encourage them to experiment
without punishment

(EBHR7, #FTF—R)
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A) HiR. MERREERREE, EMNIAMZERME. Bk, RSEMZITE—FENENK, RT

T BRI E,
Incorrect. Although commitment by leadership is good, they should not change processes.
Instead, leadership should create a generative culture in which the employees can make
necessary changes.

B) i&ix. RET##DevOpstHEE, BASERFTETE—MENEM, BEBRIFRTEDevOpsitt

9]

1T%E,

Incorrect. Although understanding DevOps is important, leadership only needs to create a
generative culture in which employees are allowed to make changes for DevOps to work.
HiR, REMSETLEESIERGIHITES, BXANETINERE RS REZTEIERIUI.
Bk, REEMZFTE—FENENN, RTEBHITVERZE

Incorrect. Although leaders can mandate that changes must be made, this is not an effective
way to transform the organization or to ensure buy-in into changes. Instead, leadership
should create a generative culture in which the employees can make necessary changes.

D) IFffs. TEMSNET —MENEMSERFEN, DevOpsaJLMEIXFI T EFRRE. (X

Bl A, BNE)
Correct. Transformational leaders create a generative and high-trust culture in which DevOps
can thrive. (Literature: A, Chapter 11)
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XHRLAFDevOpsHIRRVER TIREISNZE—TUREE . ©XIFBEITRUAIME, HOEGERES
IS MBAYERPIREHIMAAEEF T, AR T ERLE.

NN EEEREMA?

Continuous monitoring of the maturity of DevOps in an organization is a critical capability.
It enables collaboration across IT specialties, and reduces or eliminates unproductive
behaviors that all too frequently appear in organizations with operational silos. Continuous
monitoring is different from conventional monitoring.

What is the main requirement of continuous monitoring?

A) FRHATTEBaARIFEPAE

Bringing a component to the desired status in a fully automated way
B) LA ARBEAIEHER AT MMERFIHE L

Getting Development and Operations to work together in each value stream
C) REFBAMNEFRTEFRE

Having organizational alignment and a focus on the production environment
D) XM BRRISIRNRARHITRE 7

Taking a holistic view of the organization’s complex application environment

A) R, FEEPEESRAMMETREE T BIARIFEPAT, TCHHRIIRINSE, tbRieEHE
IONEZD/N -

Incorrect. Continuous deployment requires that a component can always be fully
automatically brought to the desired status, regardless of the component's initial state and
regardless of the number of times the component is configured.

B) iR, NEFRMANMEFTEFRKENNZEENENMERTFNEIE, FAEHENERNEE.
Incorrect. Delivering value to the customer requires that Development and Operations are
working together in value streams and have shared goals and practices.

0) EiR. FHRNEERRIMIRERKTE R,

Incorrect. Conventional monitoring requires organizational alignment and limits its focus to
the production environment.

D) IFffi. HEmNFESH 7 RENMIRNESRMANE. OHt: C, $358)

Correct. Continuous monitoring requires taking a holistic view of the complex application
environment of the entire organization. (Literature: C, Chapter 3)
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EERANNDevOpsiAER, BEENERENSHAREEFAN. BRIBEHREESHEERNRA
E. DevOpsiratifbZRARILARRA— AT,

DevOps 5 RRINME S BIRERMFA?

When looking at an organization’s DevOps maturity, it is important to have a
multidimensional perspective of the organization, its capabilities, and its maturity in each of
these dimensions. The DevOps continuous assessment architecture can be represented as a
cube.

What is represented on the sides of the DevOps cube?

A) "N, &R, FIFLE. . PBERRERIE
Flow, feedback, learning and experimentation, governance, deployment, and quality assurance
B) XN, E8. 3. ih. =HIRIEN

Monitoring, information, communication, assessment, control, and activities

O AR, 2. BfFkEE. SR, REFRIERW

People, process, partners, technology, quality assurance, and culture
D) &K, e, BiR. AR, BRVEMNEE
Requirements, processes, resources, organization, maturity, and capability

(EBHR7, #FTF—R)
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A) IEffa, DevOpsiToAURT AMERE, WFEIHASHEREIMIEALRRIDevOpsTIE, BI=MERE

B)

9]

HE=MDevOpsH, ARRFENRINGEE. REMELNESEE, OOt C, $55)
Correct. The DevOps cube represents six dimensions that must be continuously assessed to
course-correct the organization’s DevOps efforts. The first three represent the three DevOps
ways, followed by continuous end-to-end deployment, quality assurance, and proper
governance. (Literature: C, Chapter 5)

HiR, ZEIPRERZ R S IMERNGIF 2 —, BTFRmHEMEHERNSHE. KR
ZR% (COSO) RIFZERHIMEERIERATER.

Incorrect. The dimensions shown here are from one of the first examples of using cube
models to represent multi-dimensional aspects of assessment and control frameworks. The
Committee of Sponsoring Organizations (COSO) was the starting point for many frameworks
using cube models.

IR, AR, . STEKEFIRARLEEML 7 AMIEIZEMESE (Microsoft Operations Framework,
MOF) FHMERfRRTTZIELE (Microsoft Solutions Framework, MSF) RIXSEERSY, EHEBTHR
EERARINEAITE,

Incorrect. The people, process, partners, and technology dimensions that formed key parts of
the Microsoft Operations Framework (MOF) and Microsoft Solutions Framework (MSF)
frameworks are often used to ensure a balanced approach to managing technological
environments.

D) #iR. (U35) TR, REMKFRER—MIBLSMERN=1E, 25IZIEMmCOBIT (EERHEX

ARSI B PR=EEE, BATHRRGENTE. RECOBITHLERARMIRITERHE, &
HESORAE, BXJIMNEREFARECOBITIZS IR LIATL,

Incorrect. (Business) requirements, processes, and resources are the three domains of another
famous cube. These are the three main domains used in older COBIT (Control Objectives for
Information and Related Technologies) versions to ensure a balanced governance approach.
Although COBIT did address organizational design/roles, and capability maturity, these
dimensions were not represented on the COBIT cube.
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WTREAFEFRNIERSR, HEEERA.

=% =3 [0 E 3
1 D 21 B
2 B 22 D
3 B 23 c
4 B 24 B
5 B 25 B
6 D 26 D
7 A 27 Cc
8 D 28 D
9 Cc 29 D
10 A 30 B
11 A 31 c
12 B 32 c
13 A 33 Cc
14 Cc 34 A
15 A 35 Cc
16 B 36 A
17 D 37 Cc
18 Cc 38 D
19 B 39 D
20 D 40 A
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